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6. As we start applying the theory, we also increase our interpretation ability.  
As we keep applying the theory, we have more knowledge of interpreting 
it. 

7. Applying the theory in our applications can move us to 100% stability 
 

Whenever we talk about stability of life, we mean the continuity of the 
functionality of life.  As shown by the graph above, initially, as we starting 
applying the theory, we cannot jump to the point that we want instantly, but as we 
keep applying it, we can progressively go to that point at a later time.  Since the 
process of stability involves the steps listed above, after accomplished step 1, 2, 3, 
and 4, we can put an arrow to the direction of the point that we want as shown by 
the graph below.  The way to look at it as we continue applying the theory, we 
can go to the point that we want; basically we can see that stability is a direction 
and the point that we want to be is also a direction.  It is very important to 
understand that.  Another way to look at it, when we move toward that point, we 
can say that we are moving toward stability and when we get to that point, we can 
say that we are at 100% stability as shown by the graph below.  The line at the 
point that we want which can be seen as the top denotes 100% stability.   

time

but as time time goes
we can progressevly
go to the point we want

we cannot
jump to that 
point instantly

first time another time

 
Given that our utilization theory must be applied to enable the functionality of 
life, only our utilization theory can provide us with stability.  In terms of our 
utilization theory, we have identified the following theories with their respective 
abbreviations as shown by the table below. 
 

Theory Name Abbreviation 
Communication Theory 

TK  

Instrumentation Theory 
TI  

Information Theory 
Ti  

Education Theory 
TE  

Power Theorem 
TP  

 
The way to look at it, the table above is viewed as our utilization theory.  The 
application of our utilization theory can provide us with stability, while the 
misapplication of our theory can provide us with instability.  It can be shown that 
the stability of life is related to the application of our utilization theory while the 
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instability of life is related to the misapplication of our theory.  Take your time to 
think about that and verity that statement. 

 
62′.   Understanding the Process of Stability: We have already seen that from theory 

and system relationship and also from the philosophy approximation exercise, that 
in order for a system to be stable; the application theory of that system must be 
constant to everybody.  That means, in order for life to be stable, we must 
constantly apply our parent principles all the time to preserve that stability.   Since 
we have been making mistakes for a long time, we have not been stable.  Right 
now, we realize that we must apply our parent principles in order to be stable.  Let’s 
discuss about this process since we did not start on time or we have not started yet.   

 
There is no such as instant solution in applying a theory.  The way to look at it, if 
we did not apply a theory at a time it was given to us and choose to apply it at a 
later time, there is no instant solution for that process.  As we start applying the 
theory, we will definitely go to the way we are heading progressively, but not 
instantly.  There is no such as instant solution.  For instance, we have been heading 
south for a long time, so if we want to head to the positive direction, we cannot just 
jump to that direction, it is impossible.  As time goes, we can progressively go to 
that direction.  See the diagram below for more information.  Due to the unique 
nature of human and life, also the characteristic of our system and also theory of 
education, there is no way we can jump there instantly.  But as time goes, we can 
slowly go to that direction.  This is the way the process work. 

time

but as time time goes
we can progressevly
go to the point we want

t0
t'

we cannot
jump to that 
point instantly

 
When we talk about process of stability, we are talking about the process of 
learning and applying a theory.  To better understand that process, let’s summarize 
it step by step below. 

1. First, the theory is given to us 
2. Second, we must learn how to communicate in order to learn and use the 

theory;  so theory communication is the prerequisite of learning a theory; 
we must learn how to communicate in order to interpret the theory or 
interpret it properly 

3. Third, we must interpret the theory or interpret it properly 
4. Fourth, use the theory in our applications or organize with the theory 
5. Then we move toward stability 
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6. As we start applying the theory, we also increase our interpretation ability.  
As we keep applying the theory, we have more knowledge of interpreting 
it. 

7. Applying the theory in our applications can move us to 100% stability 
 

Since progress cannot be made in a theory without utilization, while we are learning 
the theory, we must utilize it in order for us to make progress in learning that 
theory.  See the graph below for more information about the process in term of time 

time

k

Stability Line

t t'0

T is given to you

We are at 100% stability

 
The way to look at it, at t  equal 0t  T  is given to us and we have done step 1, 2, 3, 

and 4; by doing so, we can put an arrow to point to the direction of K toward 't ; 
then we go to step 5, then we move toward stability; at 't  we are at 100% stability; 
that means at 't  and beyond we will be 100% stable.  In order to point to the right 
direction of the arrow, we must accomplish step 1, 2, 3 and 4.  We can call that the 
stability chart. 

 
Here is another interpretation: In order for a system to be stable, or in order for us to 
assume stability, what we do at some point of time must be similar to what we do at 
a later time or the quality of life at some point of time must be similar to the quality 
of life at a later time.  By doing so, we can ensure stability of life. 

 
In order for a system to be stable, at some point of time its response or the 
application of theory in that system—life—must be similar or constant at a later 
time.  As an example, let’s look at the chart below 

 

At 't t=  ( ) ~ ( )R T R T  at 't n+  
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time

k

Stability Line

t' t'+n

a b

R(T)

 
At both time, we can see the point a  and b  are similar or equal.  It is always 
assume that we know the direction we are going.  The chart above assumes that we 
know the direction we are going. 

 
The chart above shows how we can monitor a system response related to time in 
order to determine if it is stable or not.  Usually, the process of stability of life 
cannot be done on paper.  The solution of stability is very practical and it is not a 
paper problem.  What we have done above is a simple analysis on how stability 
looks like.  This process can be used to monitor stability.  From the transform 
equation related to theory and from the system equation related to the life equation, 
we have made the following relationship. 

 

( ) ( )S T t⇔ L  

 

{ }rT T solution=  

 
a. Take your time to think about the above explanation 
b. In terms of stability of life, show the following relationship given by the 

equation below.  Show a graphical representation of the life equation on the 
left and also explain your observation.  See the table below for more 

information about the theory representation.  TU represents the negative 

philosophy produces by misused, misunderstand, or non usage of our 
utilization theory. 

 

{ } ( )r TT U t= −L  

 

{ }, , , , ,T T T T T TU K i I E P= ⋯  
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Theory Name Abbreviation 
Communication Theory 

TK  

Instrumentation Theory 
TI  

Information Theory 
Ti  

Education Theory 
TE  

Power Theorem 
TP  

 
63.   The application of our utilization theory enables the functionality of life.  In other 

words, the application of our utilization theory enables us to execute functions of 
life.  In terms of functions of life, we know that they made of both existing and 
added functions.  Now in term of our utilization theory, let’s represent them and 
their abbreviations on the table below and also their applications. 

 
Theory Name Abbreviation Application Result 

Communication Theory 
TK   

Instrumentation Theory 
TI   

Information Theory 
Ti   

Education Theory 
TE   

Power Theorem 
TP   

 
All you need to do here, by understanding the overall explanation; you should 
know that there is a relationship between life and the application of our utilization 
theory.  For instance, the application of our utilization theory enables us to 
execute functions of life.  By understanding that, you can fill out the application 
result column for each applicable theory and provide more information.  For 
instance, the application of the theory of communication above enables the 
execution of a function of life.  You are going to identify that function, then add it 
to the table and provide more information about it. 
 

63′.   We know the transform of the system equation produces the life equation.  As 
shown by the equation below and the system utilization theory is given by the 
second equation. 

 

{ } ( )r TT U t= L  

 

{ }T T T T T TU K i I E P= + + + + +⋯  
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Now, let’s make the following table from the above equation.  The result to the 
right shows the transform for each term; don’t worry about the order of existing and 
added function and also the length of the equation. 

 
Given Theory Transform of Given Theory Result 

TK  { }r TKT  1 1( ) ( )h t u t+  

TI  { }r TIT  2 2( ) ( )h t u t+  

Ti  { }r TiT  3 3( ) ( )h t u t+  

TE  { }r TET  4 4( ) ( )h t u t+  

 
Now, we can rewrite the life equation in the form of what shows below by simply 
rewrite the terms from the table above. 

 

{ } 1 1 2 2 3 3 4 4( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )r TT U h t u t h t u t h t u t h t u t= + + + + + + +  

 
By rearranging the terms and use the summation notation, we have  

 

{ }
4 4

1 1
( ) ( )r n mT

n m
T U h t u t

= =

   
   
   
   

= +∑ ∑  ⇔  
4 4

1 1
( ) ( ) ( )n m

n m
t h t u t

= =

   
   
   
   

= +∑ ∑L   

 
All what you want to do, for each transformation theory listed in the table above 
relatively to its result, show the practical application of life; for instance you can 
provide an example to show the application of that theory related to life; whether it 
applies or not or should be applied. 

 
64.   By now, we should know a lot about our physical system and the difference 

between theory and philosophy.  We have shown that our system stability is 
possible with theory, but not possible with philosophy.  By understand the 
fundamental of theory, it can be shown why our system stability is possible with 
theory, but not with philosophy; verity why. 

 
64′.   By understanding the physical system and the difference between theory and 

philosophy, we have shown that only our utilization theory can provide us with 
stability.  From the physical system equation, related to philosophy, we have come 
up with the following equation. 

 

( )( )1 2 3 1 2 3( ) N Ns xy x x x x y y y y= + + + + + + + +⋯ ⋯  

 
Where the x terms are people and the y terms are their philosophies.  Related to 
philosophy, we call the above equation the mistaken equation.  From the above 
equation, we have shown that our system can never be stable.  By making an 
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adjustment to the above equation, we come up with our physical system equation.  
By replacing the philosophies with our utilization theory, we have the following. 

 

( )1 2 3( ) Ns xy x x x x k= + + + +⋯  

 
Now, by understanding the fundamental of theory, it can be shown that why our 
physical system stability is possible with our utilization theory, but not with 
philosophy; verity why. 

 
65.  Transformation of a System Related to Theory: We have seen before from an 

information theory perspective that a system responds to the type of information it 
is being fed through.  That means, we do things according to what type of 
information we receive.  The result of what we do always depends on the type of 
principles we have learned about doing them.  The model—the representation—we 
have seen before shows the input and output relationship of the system related to 
theory.  Since the transformation of a theory is the application of that theory, we 
want to show a representation of the system transformation related to theory.  This 
model makes sense, since a system may have been presented or born without 
problems, it makes sense to show the transformation of that system related to 
problem or any type of transformation.  The way to look at it, we may have been 
born from our parents or we were born from our parents without any problem.  In 
order for us to have problem now, we must have learned some negative philosophy.  
For this reason, it is good to represent us to see the transformation of the negative 
philosophy we may have learned.  See the diagram below for more information 

 
The way to look at it, there is no problem in the physical part of the system, 
however there is a negative philosophy that is associated with the system 
intelligence and its memory.  Since there is no problem in the physical part, any 
solution will require the removal of the right part as shown by the diagram above.  
In a system operation perspective, in order to remove the right part, the system may 
need to undergo another operation.  Let’s look at the diagram below. 
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As shown by the first diagram above, the negative philosophy part is the problem, 
but not the actual physical part.  Since the philosophy part is the problem, to remove 
the negative part, we have to undergo another operation as shown by the diagram 
above.  From the diagram above, the box with the question mark, simply shows 
another operation that the system itself must undergo.  Since we don’t know that 
operation, by inspection we can easily say that an inverse transformation—the term 
invest transformation simply mean an opposite operation from the first diagram—
would have been perfect.  However there is no such as inverse transformation in 
life, since we cannot undo natural process; we don’t know any method to undo 
natural process.  So the question mark in the box still remains; can we get an 
operation to replace the question mark in the box in order to get the output to be 
positive?  The answer is no; this is not a pen and paper problem.  Just think about it.  
This problem cannot be solved on paper by any mean.  From the diagram above, the 
output will look like the diagram below. 

 
Note: Theory communication is so unique to its fundamental, there are phrases or 
sentences that may be written on paper, but may never be repeated.  The phrase 
System Undergo Transformation and Transformation of a System may be written 
down, but may not be repeated.  It is better to say orally transformation of theory 
related to a system or transformation of theory related to system application rather 
than System Undergo Transformation and Transformation of a System.  From what 
we have learned about words and terms in presentation of theory from interpretation 
of theory, those two phrases are considered to be obsolete outside here for both oral 
and written. 

 
Let’s say it again, with the uniqueness of theory communication, the terms System 
Undergo Transformation and Transformation of a System can never be said or 
written on paper.  The way to look at it, the two phrases and the first diagram above 



Chapter 10: Exercises                                                                                                      263 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

are obsolete outside this page; however the phrases theory transformation and 
system application of theory and the diagram below are not obsolete.  The direct 
interpretation of the three paragraphs above is also obsolete outside this page.  
 

65′.   Transformation of a System Related to Theory: We have seen before from an 
information theory perspective that a system responds to the type of information it 
is being fed through.  That means, we do things according to what type of 
information we receive.  The result of what we do, always depend on the type of 
principles we have learned about doing them.  The model we have seen before 
shows the input and output relationship of the system related to theory.  Since the 
transformation of a theory is the application of that theory, we want to show a 
model of the system transformation related to theory.  This model makes sense, 
since a system may have been presented or born without problems, it makes sense 
to show the transformation of that system related to problem or any type of 
transformation.  The way to look at it, we may have been born from our parents or 
we were born from our parents without any problem.  In order for us to have 
problems now, we must have learned some negative philosophy.  For this reason, it 
is good to model us to see the transformation of the negative philosophy we may 
have learned.  See the diagram below for more information. 

S Output{  }Tr T

The physical part

The negative philosophy part

 
The way to look at it, there is no problem in the physical part of the system, 
however there is a negative philosophy that is associated with the system 
intelligence and its memory.  Since there is no problem in the physical part, any 
solution will require the removal of the right part as shown by the diagram above.  
In a system operation perspective, in order to remove the right part, the system 
may need to undergo another operation.  Let’s look at the diagram below. 

?{  }Tr TS {  }Tr TS

 
To remove the negative part on the left side, we have to undergo another 
operation as shown by the box above.  Since we don’t know that operation, by 
inspection we can easily say that an inverse transformation would have been 
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perfect.  However there is no such as inverse transformation in life, since we 
cannot undo natural process; we don’t know any method to undo natural process.  
So the question mark in the box still remains; can we get an operation to replace 
the question mark in the box in order to get the output to be positive?  The answer 
is no; this is not a pen and paper problem.  Just think about it.  This problem 
cannot be solved on paper by any mean. 

 
Note: Theory communication is so unique to its fundamental, there are phrases or 
sentences that may be written on paper, but may never be repeated.  The phrase 
System Undergo Transformation and Transformation of a System may be written 
down, but may not be repeated.  It is better to say orally transformation of theory 
related to a system or transformation of theory related to system application rather 
than System Undergo Transformation and Transformation of a System.  From 
what we have learned about words and terms in presentation of theory from 
interpretation of theory, those two phrases are considered to be obsolete outside 
here for both oral and written. 
 
Let’s say it again, with the uniqueness of theory communication, the terms System 
Undergo Transformation and Transformation of a System can never be said or 
written on paper.  The way to look at it, the two phrases and the first diagram 
above are obsolete outside this page; however the phrases theory transformation 
and system application of theory and the diagram below are not obsolete.  The 
direct interpretation of the three paragraphs above is also obsolete outside this 
page.  

S Output{  }Tr T

The Physical System

Negative Philosphy

 
 

66.   We k now that life is a complex system.  We have defined a complex system as a 
system that works with a complex theory.  We define a complex theory as a theory 
with much, much more observations.  We know that life is made of both existing 
and adding functions.  To better understand the complexity of life, it is always good 
to observe the functionality of the added functions related to the existing functions 
or vice versa.  In terms of observations, it can be shown that as we add more 
functions to life, the complexity of the existing functions also increases.  In other 
words, as the complexity of the adding functions increases, so does the complexity 
of exiting functions. 

a. Take your time to think about the above explanation 
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b. Show by providing a practical example that the complexity of existing 
functions of life increase as the complexity of adding functions increase.  
In other words, as we add more functions to life, the complexity of 
existing functions also increases.  

 
66′.   We know that life is a complex system.  We have defined a complex system as a 

system that requires or has a complex theory or works with a complex theory.  We 
define a complex theory is a theory that has a lot of observations.  To better 
understand if a system is complex or not, we have use the following number as a 
comparison.  Assume that we have a non complex theory or a set of non complex 
theories, we can define them with an observation of310− , where a complex theory 
can have observations greater than100010 .  You might think the 310− number should 
have been in the form of a positive integer, however we used it to show how 
complex and non-complex a theory can be.  Now that we want the decimal number 
to be in the form of positive integer, there is no problem.  To do that, we might need 
to multiply it by another number to get rid of the decimal point.  Assume that we 
multiply it by 610  to get rid of the decimal point; we must also multiply 100010 by 

610 as well to get both numbers balanced. 
 

Compare to adding function to life, it seems like the more functions added, the 
more complex life can be.  It may not be shown explicitly, since existing functions 
are separated from adding functions, but looks like the more function added, the 
complexity of the existing functions also increases by observation. 

 
a. Take your time to think about the explanations above. 
b. Show that the complexity of ( )h t  goes higher as ( )u t becomes more 

complex.  All that you need to do is to show that if we multiple 310−  
by 610 , we must also multiply 100010  by 610  which is shown below.  You 
must show a practical example from your observation or practical 
observation.  Rather than using( )h t , you may also use ( )tL ; there 
shouldn’t be any difference. 

 

( )( ) ( )( )3 6 1000 610 10 10 10− ⇔  

 

( ) ( )u t h t⇔  
 
67.   It seems like there is a similarity between our characteristic and the terms 

characteristics.  We mean similarity between human characteristic and 
characteristic of theory, instrument, and method.  For instance, we are a theory 
dependable system; theory and system characteristics show that a system must use 
its associated theory in order to function.  This relationship is well matched.  Show 
an example for each term characteristic that match with our constant characteristic.  
Another way to look at it, you can show the relationship between the physical 
system and the terms identified above. 
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68.   In comparison of theory, we have learned that theory A prime can only be used in 

system A to ensure its functionality.  Show the comparison of work that can be 
done in systems A and B in terms of applying theories A prime and B prime; see the 
picture below.  All that you need to do is to explain or show your understanding of 
theories A prime and B prime related to systems A and B. 

Theory

Theory

System

System

A Prime

B Prime

A

B

associates with

associates with

 
69.   By now we should have a very good understanding of theory, theory education, and 

theory of communication.  It seems like there is a relationship between the three.  
Can you state the relationship between theory, theory education, and theory of 
communication? 

 
70.   Understanding the Interpretation Function: When a theory is presented to us, 

disregard how the theory is being misinterpreted; the theory itself does not change.  
Since we are a theory dependable system, we will get affected by the interpretation 
of that theory, however originally that theory does not change, it remains the same.  
Being a theory dependable system, our intelligence needs to be guided by a theory; 
a good interpretation will guide us positively, while any bad interpretation will 
create negative philosophies in us that will lead us to do things differently which 
creates problems in life.   Disregard any misinterpretation by the presenter, a theory 
A does not change, it still remains theory A as shown from the figure below.  A 
Prime is the result of the interpretation.  The interpretation function depends on 
theory of communication as it is shown below.   

Instructor Student
from to

Theory A Theory A Prime
Interpretation

Function

Theory
Communication
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a. Take your time to think about the above explanation 
b. Show with practical example, no matter what, the interpretation depends on  
 theory of communication, but not theory A. 

 
70′.   Understanding the Interpretation Function: When a theory is presented to us, 

disregard how the theory is being misinterpreted; the theory itself does not change.  
Since we are a theory dependable system, we will get affected by the interpretation 
of that theory, however originally that theory does not change, it remains the same.  
Being a theory dependable system, our intelligence needs to be guided by a theory; 
a good interpretation will guide us positively, while any bad interpretation will 
create negative philosophies in us that will lead us to do things differently which 
creates problems in life.   Disregard any misinterpretation by the presenter, a theory 
A does not change, it still remains theory A as shown from the figure below.  'A  is 
the result of the interpretation and it is shown as the output after being interpreted.  
The interpretation function takes theory communication as its input as well.   

Theory
Communication

ECFInput Output

FeedbackFeedback ECF

Input

Output

Output

Instructor Student
from to

Theory A Theory A Prime
Interpretation

Function

Theory
Communication

A A'

KT

Int{  }

 
The way to look at it, since the original theory does not change, the output of the 
interpretation is a conditional function that depends on theory of communication.  
With that in mind, we have the output with the following relationship 

 

' is positive
( )

is negative'
T T

TT

K A if K
Int A

KK A if






=  

 
Beside the function written above, the interpretation function can also be written 
as shown on the block diagram in the form of: 

 

{ } ' is positive

is negative'
T T

TT

K A if K
Int A

KK A if






=  
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By inspection we can see that A is independent of the interpretation and also the 
output result never depends on theory A.  'A  can be viewed as an interpretation 
of theory A, which depends on theory of communication. 
a. Take your time to think about the above explanation 
b. Show with practical example, no matter what, the interpretation depends on 

theory of communication, but not on A. 
c. From the above figure, we have two models one on the left and one on the 

right.  The bottom one on the right was reduced from the parent feedback 
model.  Disregard the way we look at it, the two models in the bottom one to 
the left and one to the right.  Both of them are very similar.  Although there 
are similar, but there is a small difference.  Show practically the small 
difference from the two models. 

d. We may have already introduced to the application execution function from 
your instructor.  Practically, the application execution function was realized 
from the following block diagrams.  The second one is derived from the first 
one, where the first one shows more details with a typical example. 

Car

Customer

Mechanic

A

x

f ( )

reparing
process

pickup
process

Comm

Process

 

x

A

x

Application

Communication

Application
Execution

Application
Result

f ( )

 
From the diagrams above, the application execution function was derived in 
the form of  

( )f x Ax=  

 
Communication Function Communication Application Value 

( )f x  x  A 
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Now, by taking a closer look to the diagrams and the application function, we 
should see that there is a difference between the application execution 
function and the interpretation function.  Show the difference between the 
application execution function and the interpretation function. 

 
71.   By looking at the characteristic of theory, we can see that there is big difference 

between theory and philosophy.  For instance a theory is independent to a system 
where all the associated systems depend on it for functionality, where a philosophy 
is unique to its originator.  Use the remaining characteristic of theory to show the 
difference between theory and philosophy.  You might need to make a table to each 
difference side by side. 

 
72.   We already know about the associativity of the physical system.  By analyzing the 

functional system, we can see that there is an associative relationship within the 
functional system as well.  It can be shown that relationship extends to both the 
physical system and the functional system.  Show practically that the associativity 
of the physical system related to the functional system.  Since the physical system is 
associative, the functional system is also associative. 

 
72′.   We already know about the associativity of the physical system.  By analyzing the 

functional system, we can see that there is an associative relationship within the 
functional system as well.  It can be shown that relationship extends to both the 
physical system and the functional system.  Show practically that the associativity 
of the physical system related to the functional system.  Since the physical system is 
associative, the functional system is also associative. 

 

Functional System Physical System⇔  

 

( ) Tt U⇔L  

 
73.   Understanding Existing Functions Stability: When we talk about system 

stability, we mean the functional system or the function of the physical system—us.  
It can also be viewed as the functionality of the overall entity that makes up the 
functional system.  For example, now elephants walk, sometime later they stop, and 
then they continue to walk and so forth.  If we look at the overall process, we can 
see that it is very stable, as shown on the table below.  From our observation we can 
also say that in order for the functional system to be stable, the overall functions 
that make up the system must be stable. 

 
Elephant Functions Time Interpreted As 

Walk Now Time 1 
Stop Some time later Time 2 
Continue to Walk Some more time later Time 3 
Stop Some much more time later Time 4 
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The graph below is another interpretation of the table.  It is not important; don’t 
worry about it.  It simply shows that at different times, the elephants perform 
some functions and at some later times, they still perform them.  From the chart, 
we use abbreviations EW for elephants walk and ES for elephant stop.  All you 
need to understand from the overall process as we have just said earlier, in order 
for the functional system to be stable, the functions that make up the system must 
be stable.  Just take your time to think about it. 

time

EW EW EW EWES ES ES

Time 1 Time 2 Time 3 Time 4 Time 5 Time 7 Time 8
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73′.   Understanding Existing Functions Stability: When we talk about system 
stability, we mean the functional system or the function of the physical system—us.  
We can also view it as the average function of the functional system which is life; 
or the continuity of the functional system at different time.  For example, at 

't t= elephants work and ' 1t t= + elephants continue to walk.  At 
't t= nightingales whistle and at ' 1t t= +  nightingales still whistle.  At 't t=  

human eats, and ' 1t t= +  human still eats.  At 't t= we don’t harm each other and 
' 1t t= +  we still don’t harm each other.  At 't t=  we hold our associativity 

relationship and at ' 1t t= +  we still hold that relationship.  The table below shows 
a better view of what we are saying.  The graph below the table shows the process 
related to time. 

 
Time Functions Later  Functions 

't  Elephants walk ' 1t +  Elephants continue to walk 
't  Human eats ' 1t +  Human continues to eat 
't  We hold our associativity ' 1t +  We continue to hold it together 
't  Dogs walk ' 1t +  Dogs continue to walk 
't  Nightingales whistle ' 1t +  Nightingales continue to whistle 
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Let’s draw the observation for the nightingales, at 0t t=  nightingales whistle 

(NW) and at 't t=  nightingales stop (NS).  At some time later, nightingales’ 
whistle then stop, but at a later time they continue to whistle.  If we continue 
looking at this process, we should see that it comes and goes related to time.  
Conclusion, we can say as time goes, this process is very stable.  We can also do 
the same process for human walk; we can do the same process for dog walk etc.  
The way to look at it, in order to have stability, existing functions must continue 
their process of stability as time goes.  Just take your time to think about the 
overall process. 

time

k

t0 t0 t0 t0t' t't'

NW NW NW NWNS NS NS

 
 

74.   Show your understanding of the functional system related to function and system 
relationship.  This can be viewed as the relationship you have learned about life and 
function and system relationship from the characteristics you have learned. 
 

75.   In the process of stability exercise, we have learned that in order for a system to be 
stable, the function of that system at some point of time must perform equivalently 
or similar function at a later time.  From that exercise, we have learned as well that 
a given system theory determine that system stability.  If the stability of a system 
was not hold at the time the theory was given, that means if the theory was 
disregarded at that time, in order to get the stability at a later time, the theory must 
start applying.  Applying the theory at the time we want stability means that we do 
everything according to the theory to enable us to go to the direction of that theory.  
Naturally, we cannot go to the direction we want instantly, we can progressively go 
to that direction as time goes. 
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Assume that at the time the theory was given to us we throw it away and we think 
that we can make the system works with our own philosophies.  As shown from 
the graph below, let’s call that time0t , basically by doing that we simply go to the 

opposite direction.  The way to look at it, at the time the theory was given to us 
and we threw it away, we started operating in the philosophy mode and we started 
declining as shown by the figure below.  Another way to look at it, since at the 
time the theory was given to us the functionality of the system was normal; we 
can say we were at the stability line.  When we throw the system theory away, and 
do things in our own, we simply point to the opposite direction of the stability 
line.  We can call the graph below the instability chart.   

a.  Take your time to think about the paragraphs 
b. Show with a practical example, the chart below is the opposite of the 

stability chart and the average function of the stability of the system 
pointed down comparing to the stability chart. 
 

 
 

75′.   In the process of stability exercise, we have learned that in order for a system to be 
stable, the function of that system at some point of time must perform equivalently 
or similar function at a later time.  From that exercise, we have learned as well that 
a given system theory determine that system stability.  If the stability of a system 
was not hold at the time the theory was given, that means if the theory was 
disregarded at that time, in order to get the stability at a later time, the theory must 
start applying.  Applying the theory at the time we want stability means that we do 
everything according to the theory to enable us to go to the direction of that theory.  
Naturally, we cannot go to the direction we want instantly, we can progressively go 
to that direction as time goes. 

 
Assume that at the time the theory was given to us we throw it away and we think 
that we can make the system works with our own philosophies.  As shown from 
the graph below, let’s call that time0t , basically by doing that we simply go to the 

opposite direction.  The way to look at it, at the time the theory was given to us 
and we threw it away, we started operating in the philosophy mode and we started 
declining as shown by the figure below.  Another way to look at it, since at the 
time the theory was given to us the functionality of the system was normal; we 
can say we were at the stability line.  When we throw the system theory away, and 
do things in our own, we simply point to the opposite direction of the stability 
line.  We can call the graph below the instability chart.   

a. Take your time to think about the paragraphs 
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b. Show with a practical example, the chart below is the opposite of the 
stability chart and the average function of the stability of the system 
pointed down comparing to the stability chart.   

time
t0

k

 
76.  The Back Door Interface Approach: From fundamental of theory, we have 

learned that in order for our system to continue to function, our parents’ principles 
must apply everywhere we go.  With that in mind, we can say that our parents’ 
principles are very portable since we can use them wherever and whenever to 
ensure the functionality of life.  Since life is continue related to time, it does not 
make sense at anytime to stop applying our principles.  There are cases where we 
tend to apply our parents’ principles at some places and at some times, this 
approach is not good, since life is a continual process related to time, and since the 
utilization theory is very portable, so we cannot stop applying it.  The term back 
door interface is given to this approach, since it looks like a hidden approach. 

a. Show an explain your experience by providing an example about this 
approach 

b. State anything that may contribute to this approach and explain why it is 
not good for any reason.  Provide some reason on how this approach can 
be overcome. 

c. Refer to the exercise below and show how the back door interface 
approach contributes to the personal system stability. 

 
77.   Understanding Personal Stability: From independency of theory, we have learned 

that in order for the functional system to remain active, each individual physical 
system or each of us must constantly apply our parents’ principles.  From 
portability of theory, we have also learned that those principles should be applied 
everywhere the system—we are—is present and at anytime.  This makes a lot of 
sense; since wherever and whenever the system is present, it’s functionality does 
not change and it still remain active; so places and times do not matter when it 
comes to utilize our parent principles.  The functional system stability tells us that 
in order for a system to be stable; its functionality at one time must be equivalent to 
its functionality at a later time.  The nightingale graph can be used as an 
observation.  Now, let’s look at the personal or individual stability of the physical 
system related to the stability of the functional system.  Since the stability of the 
functional system depends on the physical system, it makes sense for us to look at 
the individual stability of the physical system.  When we talk about individual 
stability, we talk about the confidence of the physical system in terms of function 
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application.  This can also be viewed as self stability.  Since the term individual or 
personal stability sound much better and appropriate than confidence, we take the 
word confidence out and we replace it with the better word.  We can also view the 
overall process as the physical system stability.  Since our utilization theory must be 
applied independently or individually to ensure the functionality of life, hence the 
term personal or individual system stability. 

 
To better understand what we are talking about, let’s use a chart as an example to 
look at the individual stability of the physical system at various times and at many 
places.  Below shows an example where someone personal stability is changed 
from difference places at different time.  That is not good, since our parent 
principles must be applied all the time, and since our characteristic remain 
constant all the time, our personal stability should remain constant all the time and 
it should always be at 100%.  Since our personal system stability dictates the 
functional system stability, any fluctuation of that stability related to places and 
times can cause problems to the functional system stability; the result is always 
problem.  It is always good to remain personally stable at the highest level as 
shown on the graph below.  The graph below was interpreted from this table.  
Don’t worry about the graph, just look at the table. 
 

Places and Times Personal Stability Level 
Home 100 % 
Work 80% 
Church or School 90% 
Place 1 60% 
Place 2 50% 
Place 3 100% 
Place 4 80% 

 

time and place
home work church place 1 place 2 place 3 place 4
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Since our characteristic does not change related to time and places, our parent 
principles does not change as well.  For this reason, we should always apply our 
parent principles all the time and everywhere we are.   
a. Take your time to think about the above explanation 
b. Show the personal system instability affects the functional system stability by 

providing an example. 
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c. For each of the constant characteristic listed below, show that the personal 
stability of the physical system holds or must hold at anytime and in anyplace. 
• Associativity 
• Communication enable 
• Self controllable 
• Theory dependency 

d. Our parent’s feedback has enabled us to communicate better.  By now, we 
should be very familiar with feedback.  Since we depend on each other for 
functionality and all of us must apply our functional principles, it makes a lot 
of sense for one to feedback each other whenever and wherever the feedback 
is needed.  It is not always a good approach at any given time, place, or for 
any reason to wait to provide a feedback.  It is always good to provide the 
feedback instantly as it is needed.  There are several reasons why the waiting 
period is not good.  First, the person who does the bad thing might think he or 
she is doing it well and continues doing it.  Second, while waiting, the person 
who was going to provide the feedback may not remember and the person 
who needs the feedback might continue to make the same mistake over and 
over.  So when it comes to feedback, the instant correction or instant feedback 
approach is always the best.   

e. Take your time to think about the above paragraph.  State what you think 
about the instant correction approach.  Compare the instant correction 
approach to the postponing or future correction approach by providing an 
example. 

f. When we do something wrong, it does not matter where we do it and at what 
time we do it.  What is important is that we do it, and we should not have done 
it.  Explain why it is wrong and what difference does it make.  Show that the 
back door interface philosophy contributes to it. 

 
78.   From the chart below it can be shown practically that problem definition or 

identification remains the same as years go by.  What do we mean, if the basis of 
the problem has not been solved, the original cause of the problem still remains and 
that does not change the definition and its identification basis?  From the chart 
below, show with a practical example the statement holds.  That means, as time 
changes, show that the definition of problem and identification remain the same.  
You can point to any time on the chart.  The way to look at it, since a negative 
philosophy is not a physical entity, as time changes it remains the same.  It dos not 
bound by time or place.  Another way to look at it, as time changes a negative 
philosophy does not change or varnish, it simply expands.   Both of the charts 
presented below are the same, except the second one shows the physical system 
with its constant characteristic. 
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79.   Show the relationship of the functional system related to the physical system 

practically.  For instance, when we create problems, they affect both the physical 
system and the functional system; for this reason, we can say that the functional 
system depends on our parent’s principles as well.  That relationship is shown by 
the picture below.   
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Functional System
Physical System

Eat

Walk
Talk

Drive
etc.

Physical System

depends on

theorydepends on

 
 

Importance Notice for the Next Exercise: 
Our History is so dirty, we must be very, very careful when explaining it to our children.  
It makes a lot of sense to understand the statement based on our history. 

 
80. Problem Analysis and Solution Related to History:  When we look at our 

history, we feel very sorry about many things that had happened.  If it was possible 
for us to go back to that time, we always believe that we would have done it 
differently than the way it happened.  The reason we think this way, because we 
think differently now than the way we have thought back then when that happened.  
We always think that any problem we caused from history could have been 
prevented.  The reason we think this way, because when we analyze the event that 
happened, we see many possibilities where it could have been prevented.  It is very 
good to think like that.   

 
We have learned that we interface through communication to do what we do.  In 
other words, communication enables us to accomplish what we need and what we 
want in life.  We also know that communication is one of our key characteristic.  By 
repeating our characteristic again; we are defined as a system that can communicate 
and we use communication to interface to each other.  Since our lives depend on 
each other, we know that we work associatively to make our lives possible.  By 
repeating our key characteristic again, we have associativity, communication 
enabled, theory dependency, self controllable, and Reproductivity.  Since those key 
characteristics hold no matter what time, what year, and where we are, we can call 
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them constant characteristics.  Those characteristics are constant to us and cannot be 
changed to no matter what we do.  So whatever we do, we must take them into 
consideration.  It is very important for us to always remember those characteristics 
and respect them to whatever we do. 

 
From Understanding the Principle of Communication, we have learned about 
problem statement and we mentioned that it is always good to have a problem 
statement.  By having a problem statement, it makes it easier for us to do what we 
want and what we need to do.  It also makes it possible to find a solution for a 
problem.  It is always good to have a problem statement at the beginning of our 
application or before we do what we wanted to do. 
 
By looking at many events from history, we can see all problems that resulted to 
harming human could have been avoided if proper procedures were followed to 
solve the underlined problems.  It is good to understand that.  For instance, by 
having a problem statement, by understanding communication is the only 
interface between us, by understanding that we work associatively and our lives 
depend on each other, it should be sufficient enough for us to solve any problem 
without harming each other. 
a. Take your time to think about the above paragraphs 
b. Take any even or problem from history and perform some analysis on it.  

Show how the problem happened, and how it could have prevented.   
c. Now, do some more analysis on that event.  Define the problem statement that 

triggered that event or created the problem.  Now, use the characteristic of 
human or use our characteristic to show how the problem could have been 
solved.  

d. We know that we function associatively and our lives depend on each other.  
While we all live in different—separate—countries that do not change our 
characteristics and lives dependency.  Since we live in different countries, 
many resources our many things that we need to live locate in many different 
countries. Disregard what we do; our lives always depend on each other.  
Many events happened in history where some people from other countries 
harmed people in other countries for resources.  Now by understanding human 
characteristic and our communication interface and also life, we see that does 
not make sense at all for one to harm each other for resources.  Since we know 
more now, it makes sense for us to think that way.  We would never harm 
others for resources since we know our human characteristic and how we 
interface to each other.  Pick an event in history where some people from a 
country harmed another country because of the need of resources.  Analyze 
the problem; define a problem statement for the event.  Describe how would 
you approach and solved this problem without harming the other country or 
the people?  Take our characteristics into consideration.   

e. We have learned in movies or television shows about the type of event 
described in question d.  It would have been nice for a movie or television 
show to show the good side how the event could have happened as you 
answer in exercise d.  Now, make—produce—a movie or television show 
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about the answer of question d.  Now, if you are going to do that, take your 
time, do it in a national level.  Take your time to research about the event and 
think about the solution on how it would have happened without harming each 
other.  You can also do a play as well.  This is a group project; take your time 
to analyze the problem so you can have a good understanding of it in order to 
come up with a possible solution. 

f. From human characteristic, we have learned the following: associativity, 
communication enable, self controllable, and dependency on theory.  
Although we have already learned them, but we can repeat again what they 
mean.  Associativity means that we function and work associatively; that 
means our lives depend on each other.  It is very easy to see that.  By looking 
at the grocery store example or whatever we do, or what our lives depend on, 
we see that our lives would not be possible without other people.  
Communication enabled, allow us to work together to make life possible.  We 
know that communication is the only interface we have to each other.  By 
using communication, we are able to interface to each other to work together 
to make life work.  By using communication, we are able to work together to 
make life possible.  The theory dependency characteristic enables us to use the 
principles we received from our parents.  We use those principles in our work 
to enable the functionality of our lives.  Without those principles, there is no 
way we can do things without errors.  Those principles allow us to work 
together without committing errors.  The self controllable characteristic allows 
us to prevent us from being forced to do things.  For instance, we cannot be 
forced to do things that make life function abnormal.  We cannot be forced to 
use someone’s philosophy.  This explanation had enhanced our understanding 
of our constant characteristics.  Now, many events happened in history where 
people from one nation had forced people from another nation to do things, 
like forced—involuntary—work.  We can analyze many events in history that 
deal with forced work.  We can also analyze many events from history where 
people from one country tried to control people from another country.  These 
types of events had never ended successfully.  The reason for that is because 
of our characteristics.  Our characteristic cannot be changed.  We can go back 
to history from three to four thousand years ago to look at those types of 
events.  They have never ended successfully.  Our constant characteristic does 
not allow that.  Take your time to think about this paragraph.  Choose an event 
from history that deal with forced—involuntary—work; analyze it.  Show 
how the problem happened and how it could have been prevented? 

g. From the problem you picked above; you have already shown how it could 
have prevented.  Now, derive a problem statement from your analysis.  Show 
the process how you could have solved the problem without using forced 
work.  We know that our lives depend on each other.  We know that we need 
each other in order to live.  We strongly believe it can be done without forced 
work.  We simply use the term forced work, however there is a single word 
for it.  We simply think it is more appropriate to use the term forced work; see 
the note at the beginning of this exercise. 
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h. From paragraph g, we learn from history people from one nation tried to 
control people from other nations.  Now, pick an event from history that deals 
with the control of one nation by another nation.  Analyze the problem and 
describe how it could have been prevented. 

i. Derive a problem statement from question h.  From that problem statement, 
show the step by step solution from that problem. 

j. You can make two movies or two television shows for both g and h.  You 
need to research the problem from history.  You may show both how they 
happened and how they could have been prevented with your solutions.  If 
you choose to show how they happened, you should do in two different 
movies for one.  For instance, if you choose to show that you should have 
solved the forced work problem without forcing people, first you show how it 
happened, and then second you use your solution.  You don’t need to show 
how it happened.  It may not be necessary, since many people already know 
that.  You can also do play as well.  This is a group project. 

k. From paragraph f and from question g, we showed that a self programmable 
system cannot be controlled.  It can only be self controlled or controlled by 
itself.  By looking at the time chart below, we can see that our characteristic 
remains constant no matter what time from history.  It does not matter from 
the past, present, or future, human characteristic does not change.  It has never 
been done in history and it will never be done.  Even more than 3000 years 
ago, many have tried, but hey always failed.  If you believe that a self 
programmable system or human can be controlled by others, show that on this 
exercise.  All that you are asked to do, if you think it can be done, show how it 
can be done?  You can simply do this part if you think it can be done.  If you 
don’t think it can be done, you don’t have to worry about this part.  If you 
think it can be done, after you show how it can be done; go to the chart below 
and change the characteristics; remove the characteristics below and add what 
you have found from your method. 

l. Our associativity characteristic allow us to work together associatively 
through communication.  By having that characteristic, we can interact with 
each other to apply our parent principles in order to work to make life 
possible.  Since many of us live in different parts of the world or in different 
countries, but that does not change or affect the associativity characteristic.  
Disregard where we are, this characteristic always hold and also the other 
characteristics.  For instance, while we live in different countries, we also 
work together to assume the functionality of life.  Even when we move from 
one part of the earth to another or from one country to another, our parent 
principles always apply and our characteristics still remain constant.  
Changing location does not affect our characteristics; it also preserves our 
parent’s principles.  There are many events from history where people from 
one part of the world or from other countries move to other countries or other 
part of the world.  When they get there, rather than living together with the 
local to preserve the association, what they do, they treated the local people 
very badly.  They harmed them, they destroyed their quality of lives; they also 
destroyed them.  These types of event could have been avoided, if our parent 
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principles and our associativity characteristic were taking into account.  It is 
always good to take our characteristic and our parent principles into account.   

m. Take your time to read the above paragraph.  Analyze an event in history 
where people from one part of the globe or from another nation, went to 
another part of the globe or another nation; where instead of living together 
with the local people to work together, they harmed they or destroyed them. 

n. It is always good to have a problem statement.  Having a problem statement 
allows us to solve problems we have by using our parent principles.  Define 
the problem statement of the question above.  For instance, these people may 
have been relocated, because they had problem.  Because of the associative 
characteristic, relocation from one place to another is not a problem.  We can 
still live and work associatively in the new place we are relocating. 

o. Assume that you are the people who had relocated from one part of the glob to 
another part, provide a step by step solution on how would you solve the 
problem of the above question. 

p. With your step by step solution, produce a movie for the above problem.  You 
must take your time to do research about the event and analyze it.  You can 
also do play as well.  This is a group project. 

time
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81.   We have learned that the personal system stability also dictates the physical system 
stability.  Although we use the word physical here, but since the functional system 
depends on the physical system, it is better to say functional system.  Show with a 
practical example that the personal system stability has not been preserved by 
information.  If you have not done so, you can also show that the personal system 
stability dictates the physical or the functional system stability. 

 
82.   Since theory is limited by theory of communication, in any conversation theory is 

limited where philosophy is not.  That makes sense, since philosophy is not limited 
in terms of numbers, any idea can be thrown on the table.  Likewise, theory must 
look at the pattern of the statement to see any match in order to continue.  We have 
learned that from a previous exercise.  Show the practicality of that statement from 
the following diagram, where the first table shows the theory and the philosophy 
models while the second one is the statement table.  From the statement table, there 
is no limit of statements for philosophy; however theory is limited to match as 
shown on the table. 
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Philosophy Model Theory Model 

Ph

Ph

Ph

Ph
Ph

Ph

Ph

Ph etc

 
Physical System 

Theoryguides

 
Physical System 

   
Philosophy Model Theory Model 

Statement 1 Statement a 
Statement 2 Statement b only exists if match with a 
Statement 3 Statement c only exists if match with b 
Statement 4 
Statement etc. 

 

 
83.   From other words characteristics in Appendix A the following characteristic have 

been provided for time. 
• Uncontrollable 
• Unstoppable 

Although we have shown time on the graphs, but we did not say anything about it 
before Appendix A, all we have to know about time besides what is listed above 
is that the basis of time is day.  The way to look at it, time is cyclical so day 
comes and goes.  The diagram below shows the cyclical view.  It does not matter 
what way we read it from, both of them are the same. 

Tomorrow Today
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Today Tomorrow

 
The way to look at it, there will always be tomorrow.  It may not be the way we 
would like it to be, but since the functional system depends on us to apply our 
parents’ principles, we are the one who decide how tomorrow will be.  We can 
roughly say that we dictate how to morrow will be based on what we do. 

a. Elaborate the above statement 
b. Show or verify that tomorrow is related to what we do; that means our 

application today determine how tomorrow will be; show practical 
examples. 

 
84.   Sow your understanding of the difference between theory and philosophy by 

looking at the functionality of the physical system related to our parent principles 
and the functionality of the physical system related to philosophy. 
 

84′.   State the difference between theory and philosophy based on the following 
equations.  Since a system can never function by Radom set of ideas, the second 
equation never exists at all, so we call it the mistaken equation.  The term never 
exists means; it is not from our parent principles.  That makes sense, since the 
physical system cannot function by philosophies.  Anyway, all that we need is 
couple of sentences to show the difference between theory and philosophy. 

 

T TS D U= +  

TS D Ph= +  

 
85.  The understanding of natural instruments related to non natural instruments is very 

important, since non natural instrument must work associatively or in connection 
with natural instruments; so the same principles that work for natural instruments 
also work for non natural instruments.  It is good to understand the functions of non 
natural instruments related to natural instruments.  In the visual aspect of 
communication example, we have seen that a specific non natural instrument is 
used to extend the functionality of natural instruments.  We can use many examples 
to show comparative functions, however what is important is the functions of non 
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natural instruments related to natural instruments.  In short, we can say that non 
natural instruments extend the functionality of natural instruments.  For instance, 
while we can work to go to a grocery store, but using a car, we can get there faster 
and we can also carry more groceries.  Another observation we can make in relation 
of natural and non natural instruments, is that non natural instruments emulate the 
function of natural instruments in terms of derivation.  It is good to think that the 
derivation of non-natural instruments emulate the function of natural instruments 
with extendibility.  

a. Take your time to think about the above paragraph 
b. Six months or more later, in terms of functions, pick some non natural 

instruments, compare their functions with natural instruments that use with 
them; state and describe what functions they extend or emulate. 

 
86.  Understanding Problems and Their Solutions: Due to the fact that problems are 

not physically defined, the process of solving any problem in life is very 
challenging.  We must be very careful when dealing with problems.  While any 
negative philosophy can be used to screw-up things instantly, however solving that 
screw-up things is very challenging and can take much, more times compare to the 
time it took to screw it up.  Given that we don’t have any capability to undo any 
process or we don’t have any method to undo natural processes, when dealing with 
problems, we must carefully use normal procedure or rely on normal processes.  For 
this reason, we must be very careful not to create any problem or screw-up things. 

a. Think about this paragraph 
b. Show with a practical example that the time it takes to get something to 

work is much, much greater than the time it takes to screw-up the same 
thing.  In other words, the time it takes to solve a problem is much, much 
greater than the time it takes to create that same problem. 

c. Show practically the process of screw-up things is related to philosophy 
expandability, while the process of getting things to work is related to 
expandability of theory. 

d. Whenever we talk about problems, we always see in mind the abnormal 
functionality of life.  To better understand the terms normal and abnormal 
functionalities of life, we have to look at problem definition by itself.  We 
know that problems are negative philosophies that enable life to function 
abnormal.  In terms of system functionality, we can see that the system 
was functioned normally, and then it started to function abnormally.  Since 
multiplication and expandability are characteristics of problems, related to 
negative philosophies, there is not limit in terms of quantities and 
locations.  In other words, negative philosophies which are problems 
themselves can be multiplied and expanded without limit.  By 
understanding that, we can see time is not a factor at all in terms of 
expandability and multiplication of problems.  The way to look at it, a 
problem that happened long time ago at a specific location can be 
expanded to various locations to create other problems; it can also be 
multiplied as well.  Now, related to system functionality, we can see that 
as the problem keeps expanded and multiplied, the associated system 
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becomes more and more unstable.  If we relate that we time, we can see 
there is a reduction in the system functionality.  Another way to look at it, 
as time goes the problem keeps expanding and multiplying, at the same 
time the normal functionality of the system is diminished.  When we look 
at this process, we can see that it is related to the downhill process.  We 
name the opposite of the downhill process the uphill process. 

e. Take your time to think about the above explanation.  Verity with a 
practical example that the downhill process is related to expandability of 
philosophies, while the uphill process is related to expandability of theory.  

 
86′.   Understanding Problems and their Solutions: By now, we know a lot about 

system stability and about problem creation and definition as well.  We also know 
about philosophy transformation and theory transformation as well.  We know that 
in order for a system to be stable, its response as times go must be steady.  Given 
that life depends on our utilization theory, in order for it to be stable, we must apply 
our theory.  At the time the theory was given to us, if we chose not to apply it, we 
must wait and apply it at a later time.  At the time the system can no longer function 
and we need to apply our theory to enable the system to function, we call that 
time 0t .  Now, at 0t  we realize that we must apply our parent’s principles.  Since at 

the time we realize that, we cannot jump to 100% of what we have lost, we must 
incrementally go normally until we reach the level of stability.   

 
Given that the system can no longer function without applying our utilization 
theory; given that we no longer operate at the satisfactory level or stability level, we 
call the process of not apply our utilization theory the downhill process; while we 
call the process of applying our utilization theory to reach the level of stability or 
satisfactory, the uphill process.  Both the downhill and the uphill processes are 
directions.  Assume that during the downhill process, we lost about 96% of 
stability, now that we are at 4%.  From 4% stability, we drop to another 2%.  Now 
we define dt∆  the difference of time it takes to drop from 4% to 2% as shown on 

the diagram below; dt∆  stands for t∆ downhill.  Keep in mind from 4% to 2%, we 

only lost 2% at that level.  The equation below shows dt∆ calculation; think the 

difference time as 1time downhill and 2time downhill. 
  

2 1dt time time∆ = −  

 
Now assume that we have made a lot of accomplishment and we are successfully 
starting the uphill process.  We are at 2% stability, and we are going to 4% stability.  
At 4% stability, we only gain 2%, now we define ut∆ the time it takes from 2% 

stability to 4% stability as shown on the diagram below; ut∆  stands for t∆ uphill.  

The equation below shows ut∆ calculation; think the difference time as 1time uphill 

and 2time uphill. 
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2 1ut time time∆ = −  

 
By observing both diagrams below and look at dt∆  and ut∆ , we see that in dt∆ we 

only lost 2% and in ut∆  we only gain 2%.  Keep in mind that the time it takes for 

the 2% gain is different than the 2% lost.  From the above equations, 1time  and 

2time are simply marks on each chart; they don’t mean that dt∆ is equal to ut∆ .  

Therefore dt∆  is different than ut∆ .  By understanding the fundamental approach of 

problem, it can be shown that ut∆ is much, much greater thandt∆ . 

 
The way to look at it,  
 

u dt t∆ ∆≫  

 
We can also say that  
 

u dNt t=∆ ∆i  

 
The way to look at it, the time it takes to create problems or screw-up things are 
always much, much less than the time it takes to solve problems or fix up things.  
The second equation above can never be determined in advance, it is always 
preferable to use the first one.  N can be any number like 2, 3, and 4 or greater, but 
can never be determine in advance.  All that you are asked to do is to show with a 
practical example that.   
 

u dt t∆ ∆≫  

 
The way to look at the graphs below, the first one shows the downhill process.  The 
second one shows the uphill process.  In the first one, we define the time it takes for 
us to loose 2% and in the second one, we define the time it takes for us to gain 2%.  
The last graph shows both the first one and the second one together for better 
visualization; disregard any scaling from the graph.  To conclude it, we can say that 
the time it takes to loose 2% is much, much less than the time it take recuperate the 
same 2%.  Although the last graph shows both processes on the same chart, but 
keep in mind that both processes are opposite to each other and they can never 
happen at the same time. 



Chapter 10: Exercises                                                                                                      287 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

time

k

time
t0

k

time
t t'0

k

time 1 time 2

time 2time 1

t0

4%

2%

k

k

4%

2%

k

k

t'

4%

2%

k

k

∆∆∆∆td

∆∆∆∆tu

∆∆∆∆td
∆∆∆∆tu

 
87.   Understanding the Downhill and the Uphill Processes:  Some More Explanation 

about the downhill process and the uphill process related to Time 0 and Time Prime.  
In the downhill process, at the time the Theory was given to us and we chose not to 
apply it, we call that time, Time 0, since the Theory was initially given to us.  
However, since we use Time Prime to denote 100% stability, in the downhill 
process, Time 0 is equal to Time Prime since at the time the Theory was given to us, 
the system was 100% stable. Time 0 in the downhill process is completely different 
than Time 0 in the uphill process.  Time 0 in the downhill process denote the time 
the Theory was given to us and we chose not to apply it, while Time 0 in the uphill 
process denote the time we realize the importance of the Theory  and we start to 
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apply it in order to ensure stability.  We can also say that the time the system can no 
longer function and we start to apply the Theory to ensure the functionality of the 
system; see the diagrams below for more information. 
 

time

k

time

k

The Downhill Process

The Uphill Process

Time 0 = Time Prime

Stability Line

Stability Line

Time PrimeTime 0  
 

Related to expandability of philosophy and expandability of theory, it can be 
shown that the downhill process is related to expandability of philosophy while 
the uphill process is related to expandability of theory. 

a. Show practically the relationship of the downhill process related to 
expandability of philosophy. 

b. Show practically the relationship of the uphill process related to 
expandability of theory.  The diagram below shows the 
relationship graphically related to each process. 

 
 
 



Chapter 10: Exercises                                                                                                      289 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

time

k

The Uphill Process

1 2 3

theory

expandability of theory

time

k

-1-2-3

negative

philosophy

negative

philosophy

negative

philosophy

expandability of philosophy

The Downhill Graph

The Downhill Process

th
is p

ro
cess is related

 to
 th

is g
rap

h

th
is p

ro
cess is related

 to
 th

is g
rap

h

The Uphill Graph

Time PrimeTime 0 

Time 0 = Time Prime  
 



Chapter 10: Exercises                                                                                                      290 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

87′.   Understanding the Downhill and the Uphill Processes:  Some More Explanation 
about the downhill process and the uphill process related to 0t  and 't .  In the 

downhill process, at the time T was given to us and we chose not to apply it, we call 
that time 0t , since T was initially given to us.  However, since we use 't  to denote 

100% stability, in the downhill process, 0 't t= since at the time T  was given to us, 

the system was 100% stable. 0t  in the downhill process is completely different than 

0t  in the uphill process.  0t  in the downhill process denote the time T was given to 

us and we chose not to apply it, while 0t  in the uphill process denote the time we 

realize the importance of T  and we start to apply it in order to ensure stability.  We 
can also say that the time the system can no longer function and we start to apply 
T to ensure the functionality of the system; see the diagrams below for more 
information. 

time
t0

k

time
t t'0

k

The Downhill Process

The Uphill Process

= t'

 
Related to expandability of philosophy and expandability of theory, it can be 
shown that the downhill process is related to expandability of philosophy while 
the uphill process is related to expandability of theory. 

a. Show practically the relationship of the downhill process related to 
expandability of philosophy. 



Chapter 10: Exercises                                                                                                      291 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

b. Show practically the relationship of the uphill process related to 
expandability of theory.  The diagram below shows the 
relationship graphically related to each process. 
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88.   The following characteristics are constant for the physical system.  We call them 
constant since we cannot change them, so we have to work with them.  That means 
we have to work with them in what we do as there are rather than trying to change 
them.  Given that the utilization theory of a system must be applied in order for that 
system to work; given that philosophy believes that a system can work with a 
random set of ideas and can be changed without its derivation theory.  When 
comparing theory and philosophy related to our constant characteristic, their points 
of view can be very different.  For each constant characteristic listed below, show 
practically the difference between theory and philosophy. 

• Associativity 
• Communication enabled 
• Self controllable 
• Theory dependency 
• Reproductivity 

 
89.   From the Back Door Interface Approach exercise and from the Physical System 

Stability exercise, we have learned that it is very important for the physical system 
to maintain its stability all the times.  Since the system is still functional wherever it 
is present, it is very important for us to keep our level of stability at the highest 
level as possible.  Our level of stability should not have anything to do with time or 
location.  Given that at any age we are still functional, we should always apply our 
utilization theory to maintain our stability at all times and at all ages.  If we were 
going to compare our level of stability related to ages, we can see that we maintain 
the highest level of stability during our childhood.  The way to look at it, the 
physical stability of children is higher than our physical stability.  Since we use the 
term physical system stability to refer to the overall system stability, and we use 
personal stability to refer to individual stability, we can say that children maintain 
higher personal stability.  If we were going to take an example, we can roughly say 
that at any place the physical stability of children stays at the highest; the graph 
below shows that.  The second graph shows the decrease of our level stability as we 
get older.  Although the second graph shows the decrease, but it is better not to 
interpret it graphically, but to think that when we were kids, our physical level of 
stability used to be at the highest level.  Given that the functional system depends 
on the physical system, it is always good for the physical system to maintain 100% 
stability at all times.  In other words, it is always good for us to be 100% stable 
physically all the times. 
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a. What attribute to the decrease of our level of stability as we grow up?  In 

other words, what cause our level of stability to decrease as we get older? 
b. Verify that children have higher level of stability comparing to us by 

providing an example.  You can also provide more than one example if 
you want to. 

c. Depend how you answer question a, show the incompatibility with our 
utilization theory and verify that the physical system stability should be at 
100%. 

 
90. Visual Aspect of the Downhill and the Uphill Processes: We have already 

shown that the terms uphill and downhill processes are referred to stability.  It is 
always good to have a good understanding of what the word stability means 
itself and the process of stability.  Whenever we talk about stability, it always 
means maintain functionality.  For example, we can say that a system is stable if 
it stays functional normally related to time.  We can also say that life is stable 
when it continues to function normally related to time.  We know that life 
depends on the same theory that we depend on.  In order for the system to 
continue to function normally related to time, we must apply the theory the 
system depends on.  Without that, life cannot continue to function without 
problems.  In terms of our utilization theory, related to life, our utilization theory 
is considered to be the basis of life, since it is the one that enables the 
functionality of life. 

 
To better understand the downhill and the uphill processes, it is worthwhile to 
interpret the overall process as direction to go to our house as shown by the 
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picture below.  k  which is considered the top of the house, provides us 
direction where we should go.  Since the top of the house is a part of the house 
itself, we call k our home.  For example, since k is considered to be the 
direction of our home we always know where to go.  Without that direction, we 
simply act like we don’t know where we are heading.  The way to look at it 
from the diagram below, the house is the direction where we should go.  We 
should always follow the route to that house.  By disregarding the direction of 
the house, which is the same as disregarding our parent’s principles we simply 
heading to the opposite direction as shown by the downhill process on the 
diagram below.  Once we are in the downhill process, we simply heading down 
with no limit.  Since we don’t know where we are heading, we are very 
unstable.  Within that, anything can happen.  It is always good to have a 
direction where to go. 

 
Another way to look at the downhill process related to the house in terms of 
stability.  Assume that someone built us a house to live, rather than living in the 
house; we simply walk away from the house; we abandoned the house.  By 
walking away from the house, we are heading in the opposite direction and we 
are very unstable, since we don’t know where we are going to.  Since the 
opposite direction is not the direction of the house, we simply walk without 
direction, where we don’t know where we are heading.   The diagram below 
shows just that.  Maybe in our mind we assume that we are going to find 
another house in the opposite direction, however it does not work like that.  Any 
assumption like that is very baseless without any fundamental. 

k

Downhill

 
To better understand the overall uphill and the downhill process, it is always 
good to take it in terms of people and generation related to time.  That means we 
started going downhill from generations to generations many, many years ago.  
Given that problems stay relatively constant related to time, but spread to create 
other problems, so any negative philosophy that existed many, many years ago 
are still around without being gotten rid off.  It is always good to look at the 
downhill process in terms people related to time, rather than individual person. 
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In order to understand the downhill process related to generation, we have to 
look at the terms philosophy inheritance.  Since a negative philosophy remain 
relatively unchanged and spread, so the way to look at it, the same people who 
started the downhill process physically are not the same one today; anytime 
frame can be used it depends on you.  From the diagram below, we use 500 
years time frame for example. 

 
Definition of Philosophy Inheritance: Philosophy inheritance is the process of 
inheriting or learning and applying our ancestors’ negative philosophies and 
doing things according to those philosophies.  During that process, we also pass 
those negative philosophies to our children, so our children also inherit them; 
see the diagrams below for more information; both of them are the same.  In the 
first one, we use 500 years as the starting point of the first negative philosophy.  
In philosophy inheritance, time does not matter, anytime frame can be used.  
The second diagram shows the visual downhill process related to philosophy 
inheritance, where we label the entities.  From the diagram, we can see the first 
initial philosophy is passing trough from generations to generations. 

 

time
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Now, let’s look at the downhill process again.  While we are heading down our 
path, after generations and generations, somewhere on the road we put a mark 
so we can remember where we are and we call it mark a.  Then we continue 
heading down.  When we are much, much farther than the first mark, we put 
another mark on the road and we call it mark b and we measure the distance 
from the first mark as shown by the figure below.  From mark a to mark b, we 
measure a distance of 100, 000 miles and we continue heading down our path.  
At another location down the road, when we are heading down the road, we are 
farther from mark b, much farther from mark a, and much, much, much farther 
from the house.  Now, in terms of distance from the house related to the house 
itself, how are we heading from the house?  Just provide couple of sentences.     

k

Downhill

distance

mark amark b

Date 1

 
 
Now, let’s look at the uphill process.  After a long period of time, from 
generations to generations, we realized that we can no longer live with our 
ancestors’ inheritance.  There is a limit on living on inheritance.  Since we don’t 
have any control of time, we have to do everything according to it.  Given that the 
system can no longer function properly without applying our parent’s principles, 
we don’t have any choice to apply them in order to be stable.  After we fulfill all 
of the requirements possible, we start heading to the right direction as shown by 
the diagram below.   
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k

Uphill

 
The diagram below shows that we put two marks on the road while we are 
heading to our house.  We put mark a then we put mark b, much, much farter than 
mark a then we measure the distance as shown by the diagram. 

k

Uphill

distance

mark bmark a

Date Prime

 
The two graphs below are not important; however you can take a look of them.  
The first graph is related to the downhill process while the second one is related to 
the uphill process.  Both of them show more information about the house and the 
condition of the path or the road. 
 
You may need to answer this question with couple of sentences, why it takes less 
time during the downhill and take much, more time during the uphill. 
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While we are going down the hill after a long period of time, we put a mark onto 
the road and we call mark a, then we continue our path.  Later when we are 
farther away from mark a, we put another mark on the road and we call it mark b, 
at the same time we measure the distance of mark a to mark b to be 20, 000 miles.  
Then we continue heading down, after a long, long period of time, we put another 
mark on the road, and we call it mark c.  Then we continue heading down, after a 
long period of time, we put another mark onto the road and we name it mark d; at 
the same time we measure the distance from mark c to mark d to be 20, 000 miles.   

 
When we are at mark b, we measure the distance from mark a to mark b, which is 
20, 000 miles, we name that distance the first distance.  At mark b, that distance 
represents distance we lost from the house when we where at mark a.  The 
distance and the marks are shown on the graph below.  Now, at mark d, we 
measure a distance of 20, 000 miles from mark c.  This distance represents the 
distance we lost from the house when we were at mark c.  We name that distance 
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2nd distance as shown by the figure below.  The ways to look at it, those distances 
represent additional distances that we lost from the house.  For example, at mark 
a, we are farther from the house, but at mark b, we are much farther from the 
house.  As well as, at mark c, we are farther from the house, but at mark d, we are 
much, much farther from the house.  Both of those distance and the marks are 
shown on the figure below.  Now, if we analyze our downhill process, we can see 
that both of the distances are equal.  That makes sense, since the first distance 
measures 20, 000 miles and the second distance measure s20, 000 miles, we see 
clearly that they are equal.  What is important here, although the distances are 
equal, however the time it takes us to complete those distances are completely 
different.  For instance, the time it takes us to go from mark a to mark b is much, 
much greater than the time it takes us to go from mark c to mark d.  In other 
words, the time it takes us to go from mark c to mark d is much, much less than 
the time it took us to go from mark a to mark d.  By understanding problem and 
philosophy inheritance, it can be shown that the time it takes to accomplish the 2nd 
distance is much, much less than the time it takes to accomplish the 1st distance; 
verity that, you may also provide a practical example if you want to. 

k

mark a
mark b

mark c
mark d

1st distance

2nd distance

 
 
 As a review of the explanations above, you need to answer the following 
 questions. 

a. In terms of the distance from the house related to the house itself, 
how are we heading from the house? 

b. Why it takes less time to go from the house and take more times 
to go to the house. 

c. We know that theory bases on fundamental while philosophy 
bases on comparative.  With that, it can be shown that the 
downhill process is related to philosophy and the uphill process is 
related to theory; show that. 

d. Verity from the diagram above by providing a practical example 
that the time it takes to accomplish the 2nd distance is much, much 
less than the time it takes to accomplish the 1st distance. 
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90′. Visual Aspect of the Downhill and Uphill Processes: To better understand 

system stability, it is worthwhile to look at the visual aspect of the downhill and 
the uphill processes.  You may have seen the usage of k which we call the 
stability line in many charts we have depicted.  It is very important to 
understand the importance of the stability.  The stability line is very important 
to us as well.  Without the stability line, there is not way we can function 
properly.  The stability line can be viewed as the fundamental or the baseline of 
everything that we do.  We already know that the functional system depends on 
the physical system and the physical system depends on its utilization theory.  
So the relationship between the functional system and the physical system is 
that they both depend on the same theory, where the physical system is the one 
that applies that theory to enable the overall system functionality.  

 
To better understand the importance of the downhill and the uphill processes, it 
is worthwhile to interpret the overall process as direction to go to our house as 
shown by the picture below.  The stability line provides us the direction where 
we should go.  Without the stability line, we don’t have any direction.  Without 
that direction, we simply act like we don’t know where we are heading.  The 
way to look at it from the diagram below, the house is the direction where we 
should go.  The stability line k is the house where we are going to.  We should 
always follow the route to the house.  By disregarding the stability line, which is 
the same as disregarding our parent’s principles we simply heading to the 
opposite direction of the house as shown by the downhill process on the 
diagram below.  Once we are in the downhill process, we simply heading down 
with no limit.  Since we don’t know where we are heading, we are very 
unstable.  Within that, anything can happen.  It is always good to have a 
direction where to go. 

 
Another way to look at the downhill process from the graph related to the house 
in terms of stability.  Assume that someone built us a house and put us in the 
front door or inside the house, rather living in the house or getting inside the 
house to live; we simply walk away from the house; we abandoned the house.  
By walking away from the house, we are heading in the opposite direction and 
we are very unstable, since we don’t know where we are going to.  Since the 
opposite direction is not the direction of the house, we simply walk without 
direction, where we don’t know where we are heading.  Maybe in our mind we 
assume that we are going to find another house in the opposite direction, 
however it does not work like that.  Any assumption like that is very baseless 
without any fundamental. 

 
To better understand the overall uphill and the downhill process, it is always 
good to take it in terms of people and generation related to time.  That means we 
started going downhill from generations to generations many, many years ago.  
Given that problems stay relatively constant related to time, but spread to create 
other problems, so any negative philosophy that existed many, many years ago 
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are still around without being got rid off.  It is always good to look at the 
downhill process in terms people related to time, rather than individual person. 

 
Let’s look at the downhill process from the downhill of the house related to the 
downhill graph.  From the downhill of the house, while we are heading down, 
after a long period of time, we simply put a mark on the road at some time.  We 
name the mark a and we put it at time equal to 1t , then we continue heading 

down.  At another distance, we put another mark on our route, we name itb, 
and we put it exactly at time equal to 2t .  From the two points, we measure the 

distance 1D , where  

 

1D b a= −  

  
At the same time, we measure the difference of the time 1t  and 2t  and we call it 

dt∆ where  

 

2 1dt t t∆ = −  

 
From the diagram below, we can see the difference between the transition 
distances from the route to the transition of time from the graph.  We also 
observe the transition of distance from the house to the transition of lost from 
the graph.  At the time we were in the house or in front of the house, we were 
very stable.  We call that time 't and the time we start heading down from the 
house0t .  By observation, we see those two times are equal. 
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k

time

k

t1 t2

D1

a
b

D1

t0= t'

t0

Downhill Process

∆∆∆∆td

 
After a long period of time, from generations to generations, we realized that we 
can no longer live with our ancestors’ inheritance; see the philosophy inheritance 
note and diagrams below for more information.  Since we don’t have any control 
of time, we have to do everything according to it.  Given that the system can no 
longer function properly without applying our parent’s principles, we don’t have 
any choice to apply them in order to be stable.  After we fulfill all of the 
requirements possible, we start heading to the right direction as shown by the 
diagram below.  We simply start walking to the direction of the house.  At the 
time we start walking to the direction of the house, we call that time0t .  After 

many, many years later, we set a point in the route and we mark it as aand we 
record the time at that point1t ; then we continue heading uphill.  Now we set 

another point in the route, we mark it b at time 2t  and we record the distance 2D  

and the difference time ut∆ , where  

 

2D b a= −  

 

2 1ut t t∆ = −  

 
By observation, we can see that there is a relationship between  

 

1

d

D
t∆  and  2

u

D
t∆  
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State the relationship between 1

d

D

t∆
 and 2

u

D

t∆
.  All you need to do, state the 

relationship in one, two or three sentences. 
 

k

time

k

t1 t2

D2

ba

D2

t t'

t0

0

t'

Uphill Process

∆∆∆∆tu

 
 

By observation, we can see that from the downhill graph displays below, as 
we continue walking from the house, we go farther from the house.  It can be 
shown that there is a relationship from the distance of the house related to the 
lost, which is recorded from the graph below.  State the relationship from the 
distance of the house related to the declining as shown below.  All you need to 
do, state that in 1, 2, or 3 sentences.  If you want to, you can also show the 
relationship in terms of 1D , L , and k  
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time
t0= t'

k

L

t1 t2

∆∆∆∆td

 
Philosophy Inheritance:  To better understand the downhill process related to 
time and generations, since a negative philosophy remains relatively unchanged 
and spread, so the way to look at it, the same people who started the downhill 
process physically are not the same one today; anytime frame can be used it 
depends on you.  From the diagram below, we use 500 years time frame. 

k

time

1st Generation2nd Generation3rd Generation4th Generation5th GenerationNow

500 years ago400 years ago300 years ago200 years ago100 years ago

t0

 
Now, let’s look at the negative philosophy inheritance related to time; as time 
goes, we continue to inherit the same negative philosophies; since we don’t have 
any control of time, we cannot continue living on inheritance; there is a limit on 
living on inheritance when dealing with negative philosophies. 

 
Definition of Philosophy Inheritance: Philosophy inheritance is the process of 
inheriting or learning and applying our ancestors’ negative philosophies and doing 
things according to those philosophies.  During that process, we also pass those 
negative philosophies to our children, so our children also inherit them; see the 
diagrams below for more information; both of them are the same.  The time 
intervals on the second diagram below are simply intervals related to generations.  
They are completely different from 1t  and 2t  mentioned above. 
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k

time

1st Generation2nd Generation3rd Generation4th Generation5th GenerationNow

500 years ago400 years ago300 years ago200 years ago100 years ago

t0

1st Negative
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

 

time

2nd Generation3rd Generation4th Generation5th GenerationNow

500 years ago400 years ago300 years ago200 years ago100 years ago

1st Negative
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

Inherited
Philosophy

1st Generation

k

pass through

time
t0= t'

time 1time 2time 3time 4time now

 
 

a. Now, assume that we have fulfilled all the requirements and we want 
to get back to the house.  What we have to do in order to get back to 
the house?  All you need to do, state that in 1, 2, or 3 sentences. 

b. While we are going down the hill and continue our path, at some point 
of time, we mark a point on the road and we call it point a , and at a 

later time, we mark another point on the road and we call it point b, at 
the same time we measure the distance between the two points and we 
call it 3D .  With that, we have the following calculation  

 

3D b a= −  

 
And we continue our path.  Many, many generations later, while we 
continue our path, we mark another point on the road and we call it 
point cand we continue down our path.  In a much later time, we 

mark another point on the road and we call it point d .  At the same 
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time, we measure the distance between the two points in the following 
form and we call it 4D  

4D d c= −  

 
Now, if we look at the diagram below, we can see that from point a  

to point b at distance 3D  we lost 10%.  That means we lost 10% of 

our distance from the house at pointb.  Let’s look at the diagram 

again from point c to point d , we can see that we lost another 10% at 

distance 4D .  Another word, at point d , we lost another 10% of our 

distance.  The following losses where calculated and given to us.  The 

numbers onto the right of the graph show the % loss of k . 
 

3 4 10%L L= =  

Although both lost are the same, however the times are completely 
difference.  In other words, although 3L is equal to 4L , however 3t is 

completely different than 4t . By understanding philosophy inheritance 

and also problem itself, it can be shown that 4t is much, much shorter 

than 3t .  Verity that ; don’t worry about the figure in terms of scaling. 

 

4 3t t≪  

 
You may provide a practical example if you want to. 
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k

k

t0= t'

t0

Downhill Process

t
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L4
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D4

a
b

c
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91. Derivative Approach of Non Natural Instruments: From the characteristic of the 

physical system, we have learned that we are both theory dependable and self 
controllable.  As a theory dependable system, we depend on theory to do what we 
do.  For instance, we depend on theory to derive an instrument that provides a 
functionality in life.  To better understand the physical system theory dependable 
characteristic, it is always good to show the system itself with the attached theory.  
In other words, to better understand the theory dependable characteristic of our 
system, it is always good to show our system with the theory it depends on.  The 
diagram below shows our physical system with the theory that the system depends 
on.  The diagram to the left shows that our system depends on theory, while the one 
to the right shows that our system is guided by theory.  It does not matter the way 
we look them, both of them are the same. 
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We know that our system is defined as an intelligent-system.  As an intelligent-
system, our intelligence depends on theory to give us ideas to enable us to what 
we do, for instance derive an instrument to provide a function in life.  To better 
understand the relationship between our intelligence and theory, it is always good 
to draw them so we can have a better feeling of what we are talking about.  The 
first diagram shows that our intelligence is guided by theory, while the second one 
shows that our intelligence depends on theory.  Both of the diagrams are the 
same; they simply provide more information about our theory dependable and self 
controllable characteristics. 

 

 
 

 
 

As a theory dependable system, we apply theory to execute function of life.  We 
know that our function is to live.  We also know that life is made of a lot of 
functions.  In term of our theory dependable characteristic and the application 
characteristic of theory, we apply theory to enable us to execute functions of life.  
To better understand our theory dependable characteristic related to functions of 
life, it is always good to show the functions of life and the theory dependable 
characteristic into one diagram.  The diagram below shows that we depend on 
theory to gives us ideas to  execute functions of life, while those functions that we 
execute depends on us.  In other words, those functions depend on the same 
theory that we depend on.  Since we depend on theory to give us ideas to execute 
those functions, those functions also depend on the ideas we get from theory.  We 
have represented life already in a circle form with a lot of functions.  Here we 
simply represent life in a rectangular form with a lot of functions.  It does not 
matter the way we look at it, what is important is that life is a set of functions and 
those functions depend on us and we depend on theory. 
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Now since life is made of both added and existing functions, if we want to we can 
partition those functions to show the added functions area and the existing 
functions area.  By doing so, we have the diagram represented below.  All that we 
do is divided the diagram above into two groups to show the group of added 
functions and the group of existing functions. 

 

Life

Theory

Physical System

depends ondepends on

Function

Function

Function

Function

Function

Function

Added Functions

Function

Function

Function

Function

Function

Function

Existing Functions

 
 

Since we depend on theory to enable us to derive and execute functions of life, 
let’s assume that we want to add a function in life.  As a theory dependable 
system, in order for us to add a function to life, we have to apply theory to derive 
that function in order to add it to life.  Now in order for us to add that function for 
instance, we can derive an instrument to provide that functionality.  It is the same 
as saying that, in order for us to add something to life, we have to make it or 
manufacture it.  In this case, we use the word derive, which is much, much better 
rather than using other words like make or manufacture.  As a communication 
enabled system, communication enables us to communicate related to what we 
identify.  Since the overall process is considered as a derivative, here using the 
word derivative to explain the process of added function it is much better. 
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Now let’s continue the process of added function to life.  In order to add a 
function to life, we have to derive an instrument to perform that function.  In this 
case, we can represent life in a form of a circle to show the instrument and the 
functionality of the instrument.  For instance we can represent life in a circle to 
show that an impala jumps, at the same time, the instrument that we are about to 
add to life, also has its own functionality or execute its own function.  Since we 
only worry about the instrument that we are in the process of adding to life, we 
don’t have to worry about the function of that instrument.  For that reason, we 
show the instrument only. 

 

 
 

Assume that we have a name for that instrument, for instance we name it 
Instrument I; here we can show the name of the instrument in the circle instead.  
In that case, the Instrument I is what we are adding to life.  While we use the term 
Instrument I here, it does not matter.  We can use any other name that we like.  
The diagram below shows that we add an instrument to life from our process of 
derivation. 

 



Chapter 10: Exercises                                                                                                      312 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

 
 

Now by understand the overall process of derivative, we know that we are theory 
dependable and we apply theory to derive and execute functions of life.  For 
instance, assume that we go to the store to buy something, that thing is derived 
from a process, where theory was applied to derive it.  In order for us to use what 
we have bought, we also depend on theory, since we are a theory dependable 
system.  To better understand what we have just said, let’s show the overall 
process in term of the instrument that we are in the process of adding to life.  
Since we are a theory dependable system, in order to add that instrument to life, 
we have to apply theory do derive it.  In this case, we can say that the instrument 
that we are about to add to life is derived from the theory that we depend on.  In 
this case, we can say that Instrument I depends on Theory T.  Here we use the 
term Theory T to name the theory that we use to derive Instrument I.  It does not 
matter; we could have used any other name.  The diagrams below show the 
instrument that we add to life depends on the same theory that we depend on to 
derive it.  Both of the diagrams are the same.  The fist one shows that the 
instrument depends on the theory, while the second one shows that the instrument 
is derived from the theory.  There is no difference; both of them are the same. 
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Now after deriving the instrument, we know that the instrument must have a 
function.  While previously we were not concerning about the function of the 
instrument that we are in the process of deriving, here let’s show the relationship 
between the instrument and the function of that instrument.  By doing so, we can 
also show the instrument in life and its functionality.  We mean show it in inside 
the circle.  The diagrams below show the relationship between the instrument that 
we add to life and its function.  While we use Function 2 as the function of our 
instrument; it does not matter.  We simply use the name function here with a 
number.  We could have given the function any name that we like.  The first 
diagram is the same as the second one.  The first one show the function is 
performed by the instrument, while the second one shows that the function is 
executed by the instrument. 

 

 
 

 
 

Here we show the instrument that we add to life and its function inside life.  In 
other words, the instrument has been added to life with its functionality. 

 

 
As a theory dependable system, we depend on theory to enable us to derive 
instruments in life.  Now assume that after adding that instrument to life with the 
indicated functionality, later we need to add more functionality to the instrument.  
In other words, while we derive the first one now, later we are going to derive 
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another instrument.  The other instrument will be considered as version 2 from the 
first instrument.  In other words, our first instrument was version 1, the second 
one will be version 2.  The overall process can be continued, where we can have 
version 3, version 4, and so forth.  It does not matter and there is no limit.  What 
is important here, as a theory dependable system, we depend on Theory T to 
derive version 1 of the instrument, we also depends on Theory T to derive version 
2 of the instrument and so forth.  To better understand the overall process, let’s 
show it in a diagram. 

 

 
 

 
 

 
 

 
 

The diagram above shows that multiple versions of the instrument are derived 
from Theory T.  Now to better understand the overall process, we have to take 
time into consideration.  For instance, the first version of the instrument is derived 
first, while later, the second version of the instrument is derived, much, more 
later, the third version of the instrument is derived and so forth.  To better 
understanding that process, let’s draw it in a tabulated form.  The diagram below 
shows what we have just talking about.  We use arrows to show that version 1 
goes to version 2 and so forth. 
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a. Just take your time to think about the overall explanation 
b. From the explanation as we can see, multiple versions of the instruments are 

derived in different time from Theory T.  Assume that we can count up to 15 
version of the instrument.  In this case we can say that, version 15 of the 
instrument is also derived from Theory T.  Now, since we are an intelligent-
system and we are theory dependable and in order to derive an instrument, we 
need a theory to gives us idea to do so.  By understanding that, it can be 
shown that the 15th version of the instrument is still a product of the first 
version of the instrument.  In other words, the 15th version of the instrument is 
still depends on the first version of the instrument.  You need to show that by 
providing a practical example. 

c. As we have learned from the explanation, since we are a theory dependable 
system, we depend on theory to execute functions of life.  The instruments 
that we add to life also depend on theory as well.  By understanding that, it 
can be shown that Instrument I is also limited by Theory T, verify that.  In 
other words, show that the instruments that we add to life are also limited by 
the theory that we used to derive them.  All you need to do show that the 
instrument that you add to life is limited by the derivation theory.  You need 
to provide a practical example as well. 

d. From your workout above, you may have shown that Instrument I is also 
limited from Theory T, disregard any version.  In other words, it does not 
matter how many time we increment the version, it also does not matter when 
and how long it takes, Instrument I is still limited by Theory T.  By 
understanding what we have just said, with that limit, it is always good to look 
at other alternative in term of derivation rather than relying on the same 
theory.  We mean other alternative theory here. 

e. With your understanding of theory and also instrument derived from theory, it 
can be shown that there is a similarity between all versions of the instruments.  
For instance if we go from version 1 to version 15, there must be a similarity 
within all of them.  From your understanding of theory and instrument, show 
or state that similarity.  If you want to, you can also provide a practical 
example. 

f. Since the instrument is a separate entity from the theory, take a look of the 
instrument and its derivation theory, in terms of importance, verify with a 
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practical example whether the instrument is more important the theory or the 
theory is more important than the instrument. 

 
91′.   Derivative Approach of Non Natural Instruments: The physical system is 

defined as a self programmable system.  With a theory dependability characteristic, 
we can also define the physical system as a theory dependable system.  To better 
understand the overall process, we have shown the diagram of the system in 
connection with its utilization theory.  As shown below, it shows that the system 
functionality depends on theory. 

  

Theory guides

Physical System
 

The physical system is an intelligent-system, since its intelligence gives the 
system the ability to apply theory.  To better understand the relationship of the 
physical system in term of theory related to the intelligence; let’s look at the 
diagram below.  It shows that the intelligence is guided by theory.   Which is the 
same as the intelligence depends on theory as shown by the second diagram. 

 

Theory Intelligence

IntelligenceTheory

guides

depends on

 
Since the function of the physical system is to apply theory to enable its 
functionality, let’s look at the relationship of the physical system related to the 
functional system.  What do we mean by that, since our function is to live, we 
must look at how we apply theory to enable the functionality of life. 
The diagram below shows the functional system related to the physical system.  It 
shows that while the physical system depends on theory to function, the 
functional system also depends on the physical system by the same theory.   
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Theory

Physical System

depends ondepends on

Function
Function
Function
Function
Function
Function

Functional System

 
From the life equation, we have learned that the relationship of the functional 
system related to the physical system.  Below are the life equation and the 
equation of the physical system. 
 

( ) ( ) ( )t h t u t= +L  

 

T TS D U= +  

 
Life of Time Existing Functions of Time Adding Functions of Time 

( )tL  ( )h t  ( )u t  

 
Physical System Derivation Theory Utilization Theory 
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M
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From the above equations, we can represent the model by showing the 
relationship of the physical system related to the functional system by taking the 
life equation into account. 
 

Theory

Physical System

depends ondepends on

Functional System
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By extracting the terms from the summations above, the diagram above can be 
represented using the life equation as shown below.  From this diagram, we can 
see that the functional system is a box that includes many, many functions.  The 
box includes many, many existing functions and many, many adding functions.  
Those functions also depend on the physical system while the physical system 
depends on theory. 
 

Functional System

Theory

Physical System

depends ondepends on

 
Now, let’s assume that we want to add a function to the functional system.  In 
order to add that function to the functional system, we must derive an instrument 
to perform that function.  From the physical system equation, we know that a 
system is derived by its derivation theory and functioned by its utilization theory.  
For the non natural instrument we want to add to the functional system, we can 
represent it by the following equation. 
 

ˆ ˆ
ˆ

T T
I D U= +  

 
Where the terms used in the above equation can be interpreted as follow. 
 

Non Natural Instrument Added Theory 

Î  T̂  
 

From the above equation, we assumed T̂  as and added theory.  We used the 
terms given from the table above to show the difference between given and added 
theory.  Since we are very familiar with the original terms, rather than using the 
terms above, we are going to equate them by the original as shown by the table 
below.  Don’t worry about it.  All we have to know, whenever we see I in this 
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exercise, it is referred to non natural instrument and whenever T in this exercise, 
it is referred as an added theory. 
 

Non Natural Instrument Added Theory 

Î I=  T̂ T=  
 
By using the equalization of terms from the above table, we can rewrite the 
equation as shown below. 
 

T TI D U= +  

 
Since the instrument is a function of its theory, we can also rewrite the equation 
for the physical instrument as follow. 
 

( ) ( ) ( )I T D T U T= +  

 
Now, since we are concerning about the derivation of that instrument, we can 
simply use the derivation theory part of the equation and leave the utilization 
theory part at rest.  By doing so, we have the equation below, which shows that 
instrument I  which is a function of its theory is equal to its derivation theory. 
 

( ) ( )I T D T=  

 
To better understand the derivation process of the instrument related to its 
derivation theory, let’s look at the diagram below.  It shows that instrument I is 
derived from theoryT , which is the same as theory T gives rise to instrumentI .  
The way to look at it, when we say an instrument is derived from a theory; we 
mean that the existence of that instrument was realized by that theory.  In this 
case, that theory is the set of principles that derive that instrument.  The set of 
principles includes everything necessary that is used to realize the instrument.  
For instance the set of principles can include natural element, natural resources 
extraction and all other means that are necessary to derive the physical 
instrument.  
 
 



Chapter 10: Exercises                                                                                                      320 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

Instrument Theory
I T

Theory Instrument

T I

is derived from

gives rise to

 
 
Since the presence of any instrument is to provide a function to life, it makes 
sense to give that instrument a functional value in life.  From the life equation, we 
have learned that the set of functions provided by instruments added to life are 
considered as adding functions.  We can rewrite the equation again to show the 
set of adding function. 
 

1 1
( ) ( )( )

M

n m
n m

h t u tt
∞

= =
+=∑ ∑L  

 

1 2 3 1 2 3( ) ( ) ( ) ( ) ( ) ( ) ( )t h t h t h t u t u t u t= + + + + + + +⋯ ⋯L  

 
Now, for our function we are going to add to the system, we are going to give it 
an added functional value of 2( )u t .  In this case, the following relationship exists 

in terms of our added instrument related to the functionality of that instrument. 
 

2( ) ( )I T u t⇔  

 
Where 2( )u t is the function of the physical instrument and ( )I T is the physical 

instrument itself.  When we say the function of the physical instrument, we mean 
the usage of that instrument; what that instrument is used for.  We simply choose 
the index of 2 from the summation of the adding functions to represent the 
function of our added instrument.  It does not matter, any number can be chosen.  
It does not matter as well; another name can be given to that function.  We simply 
choose a lower index for better representation and to help better understanding. 
With the dependency of our intelligence on theory, we can apply a theory to 
derive an instrument to perform a function in the functional system.  Repeat 
again, since our system is theory dependable, we can apply a theory to derive 
instruments to use in life.  Since our intelligence works incrementally related to 
what we have learned, any initial observation will lead us to more observations; 
disregard the quality of that observation.  For instance, during the learning process 
of a theory, any initial application of that theory will give us more knowledge of 
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that theory to perform other applications.  Another way to say it, any initial 
application of that theory will lead us to more applications of that theory.  For 
instance, if we use that theory to derive an instrument, as we keep applying that 
theory, we can use the initial knowledge from the first derivation to derive similar 
or the same instrument with more functionality. 
 
The diagram below shows an example of an initial derivation of an instrument.  
With that knowledge, later we can derive the same instrument with more 
functionality.  We can also derive similar instruments with more functionality.  
The way to look at it, at year one, we do the first derivation of that instrument.  
With the knowledge we gain from the first derivation, later we use that knowledge 
to derive another version of that instrument with more functionality.  This process 
can keep going to derive more and more instruments with more functionality.  
This process can also be used to derive other instruments with similar and 
different functionalities.  From the diagram below, we use year one to show the 
first derivation, and later times to show the updated or other versions of the 
instruments.  The derivative operator is used as an abbreviation.  For instance we 

use 
dI
dT

to show the derivation of instrument I from derivation theoryT .  The 

index is used to show the version of the instrument.  For example, 
dI
dT

 is viewed 

as the first version of the instrument, while 
2d I

dT
is considered as the second 

version of that instrument.  In that case the second version of that instrument is 
considered to have more functionality than the first version and so forth. 
 

dI
dT

2d I
dT

3d I
dT

4d I
dT

5d I
dT

 
 
Given that our intelligence works relatively with theory, any initial observation 
will lead us to more observations.  For instance, the first derivation of an 
instrument will lead us to derive the second version of that instrument with more 
functions.  This is basically what shows in the process by the terms represented 
below. 
 

2 3 15dI d I d I d I
dT dT dT dT
 
 
 
 

→ → →⋯  
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a. Think about the above explanation 
b. With respect of what we have said above, it can be show that the 15th version 

of that instrument is still a product of the fist version with some respect.  The 
way to look at it, we can say that the 15th derivative is still a product of the 1st 
derivative as shown by the equation below.  Show that with a practical 
example; simply verify the equation below by using a practical example; see 
more explanation from the table below for the interpretation of the equation. 

 
15dI d Ix

dT dT
 
 
 
 

=i  

 
First Derivative Some Other Derivatives The 15th Derivative 

dI
dT

 
 
x  

15d I
dT

 

 
c. Since our intelligence depends on theory to function, the instrument that we 

derive from a theory also depends on that theory.  With that, we can say that 
an instrument that is derived from a theory is also limited by that theory.  
What we mean by that, we mean the functionality of that instrument is limited 
by its derivation theory.  That instrument cannot perform any function greater 
than its derivation.  With that in mind, the following relationship defined 
below holds between an instrument and its derivation theory.  Verify the 
relationship below by using a practical example.  All you need to do is to 
show that an instrument I  is limited by its derivation theoryT .  Rather than 
doing this one, if you want to you can continue reading and do the next one.   

 
I T≤  

 
d. Since instrument I is limited by its derivation theoryT , this relationship also 

holds regarding the first derivative.  Therefore, the relationship above can also 
be written in this form, where we can say the instrument I  is limited by its 
derivation from its derivation theory T  as shown below. 

 
dII
dT

≤  

 
With some respect, we can also say the higher order derivatives of that 
instrument are also limited by the first derivative.  In other words, the 
nderivatives of that instrument are also limited by the 1n− derivatives.   
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If you want to, you can also show that the nderivatives are also limited by the 
1n− derivatives.  For instance for the instrument above, it can be shown that 

the 15th derivative is also limited by the 1st derivative. 
 
With the limit mentioned above, sometime it is better to start from scratch for 
the nderivatives rather than relying on the 1n− derivatives.  In that case the 
terms nderivatives and 1n− derivatives are no longer useful, since we start 
from scratch.  The way to look at it, with that limit, it is better sometime to 
take a look of other theory rather than relying on 1n− derivatives. 

e. With our knowledge about theory and instruments derived from theory, it can 
be shown that there is a similarity between 1I  and 15I ; where 1I  is 

considered to be the 1st derivative of the instrument and 15I  is the 15th 

derivative.  From your understanding of this statement, state the similarity 
between 1I  and 15I . 

f. Take a look of the instrument and its derivation theory, in terms of importance, 
verify with a practical example whether the instrument is more important the 
theory or the theory is more important than the instrument.  This is the same 
as saying whether I  is more important than T  or T  is more important than 
I . 

 
92.   Function Added to Life: Which is the same as saying function added to the 

functional system; we already known that life is made of many functions.  Those 
functions are divided into two groups: the functions that we add and the functions 
that are existed.  We can name the existing functions as natural functions.  Anything 
that is made in life performs a function.  For instance, we go to store we buy an 
item; the item that we buy simply adds a function to life or simply provides a 
function in life.  In this case, we can say what that item is used for is simply a 
function of life.  The manufacture of that item simply adds a function to life as well.   

 
To better understand the process, let’s represent life by a circle as shown below.  
The diagram on the left shows that life is made of existing and adding functions, 
while in the one to the right, we show couple of functions name.  Since there are so 
many, many functions, rather than name them all, we simply represent them by 
indexing them and show the dots to indicate more in the list.  As we said earlier, 
any non natural instrument performs a function in life.  For instance the item that 
we buy from the store, performs a function in life, the manufacturer of that item, 
also adds a function to life.  
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Life

Exisiting
Functions

Adding

Functions

Life

function 1

function 2

function 3
function 4

function 1

function 2

function 3

Existing functions

Adding functions

 
There are two ways functions can be added to life; first an instrument can provide a 
function to life.  In this case, we say that the manufacturer of that instrument added 
a function in life.  A function can also be added to life without providing by an 
instrument, for instance a service can be regarded as a function added to life.  In this 
case, this function is not coming from the usage of an instrument.  It does not matter 
if the function is performed by an instrument or a service, it is still a function added 
to life. 

 
The diagram below shows the process of adding a function to life.  The way to look 
at it, we go to store we buy an item, what we use the item for is a function added to 
life.  In this case, we name that function, function 4.  We could have also named it 
its own name.  The name function 4 we add to life can also be from a service.  For 
instance, suppose that we have a problem in our homes and we call for service to fix 
that problem, the service is viewed as a function added to life.  In this case, we can 
also name that service function 4. 

 

Life

function 1

function 2

function 3
function 4

function 1

function 2

function 3

Existing functions

Adding functions

function 4

 
To better understand life, it is worthwhile to understand the functions life is made of.  
It is also good to understand both the existing and the adding functions and the 
difference between them. 

a. Take your time to think about the above paragraphs 
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b. Name couple of instruments; provide a brief description or name the functions 
they perform in life; give each function an index like function 1, 2 etc. as 
shown by the table below for instrument. 

c. Name couple of services; provide a brief description or name the functions 
they perform in life; give each function an index like function 1, 2 etc. as 
shown by the table below for service. 

d. Draw the circle as shown above, add the function names for the instruments; 
then use another circle to add the functions name for the services; then draw 
two other circles to show the functions by indexing.  You should have a total 
of 4 circles. 

 
Instrument Names Description/Function Function Index 

Instrument 1 Description/function Function 1 
Instrument 2 Description/function Function 2 
Instrument 3 Description/function Function 3 
Instrument 4 Description/function Function 4 
Instrument 5 Description/function Function 5 

 
Service Names Description/Function Function Index 

Service 1 Description/function Function 1 
Service 2 Description/function Function 2 
Service 3 Description/function Function 3 
Service 4 Description/function Function 4 
Service 5 Description/function Function 5 

 
92′.   Function Added to Life, which is the same as adding function to the functional 

system.  From the life equation, we have learned that life is made of existing 
functions and adding functions.  We name the existing functions natural functions.  
The adding functions are functions that we add in life.  To better understand life and 
the overall process of adding functions, let’s look at the life equation again.  The 
explanation for each term from the equation is given on the table. 

 

( ) ( ) ( )t h t u t= +L  

 

1
( ) ( )n

n
h t h t

∞

=
=∑   and  

1
( ) ( )

M

m
m

u t u t
=

=∑  

 
Life of Time Existing Function Adding Function 

( )tL  ( )h t  ( )u t  

 
We can call the adding functions are functions that we add to life that are 
executed by the usage of non natural instruments.  For instance, any instrument 
that we use in life performs a function of ( )u t .  Any service that we add also 
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performs a function of ( )u t .  For example, a non natural instrument that we 

derive can perform a function where we can index that function to have a name of 

3( )u t , the same as a service provided in life is also a function that can be indexed 

to have a name of 3( )u t .  To have a better view of the process, let’s show in a 

block diagram.  This diagrams shows life as a box that has both existing and 
adding functions. 
 

Life

Existing function

Adding function

 
 
Now, let’s expand the functions in the box to show the index for both the existing 
and adding functions as shown on the diagram below.  
 

Life

Set of Adding function

Set of Existing Function

 
Now, assume that we derive or manufacture an instrument; we simply add a 
function to life.  The usage of that instrument or the function provided by that 
instrument is simply a function of life.  In this case, we can give it a function 
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name with an index.  For instance, assume that we derive or manufacture an 
instrument, we can give it a name of 3( )u t .  Any service that we provide is also a 

function that is added to life.  In this case, we can give it any function name for 
instance 3( )u t .  The diagram below shows life as a box and the function we have 

just added to it which is 3( )u t . 

Set of Existing Function

Set of Adding function

The function we have just added

 
a. Take your time to think about functions added to life.  Think in terms of 

functions performed by instruments and also services provided to life, which 
are also functions added to live. 

b. Now, name couple of instruments and their functionalities.  You can also give 
a description of them.  Their functionalities are simply the functions they 
perform which are the functions added to life.  Give each function a name an 
index as shown by the table below. 

c. Now, name couple of services and their functionalities.  You can also give a 
description of them.  Their functionalities are simply the functions they 
perform which are the functions added to life.  Give each function name an 
index as shown by the table below. 

d. Draw the box for life as shown by the diagram above and include the 
functions names.  Do for both instruments and services.  Draw two more 
boxes and show the functions by indexing.  You should have a total of four 
boxes. 

 
Instrument 

Names 
Description/Function Function Index 

Instrument 1 Description/function 
1( )tu  

Instrument 2 Description/function 
2( )tu  

Instrument 3 Description/function 
3( )tu  
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Instrument 4 Description/function 
4( )tu  

Instrument 5 Description/function 
5( )tu  

 
Service Names Description/Function Function Index 

Service 1 Description/function 
1( )tu  

Service 2 Description/function 
2( )tu  

Service 3 Description/function 
3( )tu  

Service 4 Description/function 
4( )tu  

Service 5 Description/function 
5( )tu  

 
93.   Show with a practical example that the following relationships provided by the 

graphs below.  That means show that the physical system depends on its utilization 
theory provides a stable response, while when the system depends on philosophies, 
it provide an unstable response. 

Physical System

Theory
depends on

depends on

Functional

System

time

k

The Uphill Graph

Stability Line

Time PrimeTime 0 
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philosphy

philosphy

philosphy

philosphy

philosphy

philosphy

1

2

3

4

5

etc.

Physical System

depends on

Functional
System

time

k

The Downhill Graph
Stability Line

Time 0 = Time Prime  
 

93′.   Show with a practical example that the following relationships provided by the 
graphs below.  That means show that the physical system depends on its utilization 
theory provides a stable response, while when the system depends on philosophies, 
it provide an unstable response. 
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Physical System

Theorydepends on
depends on

Functional
System

time
t t'0

k

The Uphill Graph
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philosphy

philosphy

philosphy

philosphy

philosphy

philosphy

1

2

3

4

5

etc.

Physical System

depends on

Functional
System

time
t0

k

= t'

The Downhill Graph
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philosphy

philosphy

philosphy

philosphy

philosphy

philosphy

1

2

3

4

5

etc.

Physical System

depends on

Functional
System

time
t0

k

= t'

The Downhill Graph

 
94.   From information theory, we have learned that if the derivation theory of a system 

is unknown, there is much information about that system that is limited.  With 
philosophies, that may not be the case.  Show the difference between theory and 
philosophy related to the statement.  That means, show the difference between 
theory and philosophy related to a system where its derivation theory is unknown; 
give some examples. 

 
95. We already known that theories are very expandable, so as our negative 

philosophies.  The fact that our intelligences allow us to learn from our previous 
ideas, there is a higher probability that we can make tremendous mistakes based 
from a previous negative philosophy if we don’t drop it quickly.  During the 
downhill process, we continue applying our negative philosophies related to time.  
As time goes, the system becomes more and more unstable.  The reason for that, 
because related to theory and philosophy, our intelligences work in a successive 
basis.  In term of theory, we already knew that theories are learned in a successive 
basis where the understanding of one will lead us to understand other.  There is no 
limit on this process; any initial observation from a theory, will lead us to more 
observations.  This process also applies to philosophy, where any negative 
philosophy will lead us to more negative philosophies.  Related from the diagram 
below and from what we have just said, assume that we are at negative four, the 
probability of us to go to negative five, is much, much greater than going to 
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negative three.  What do we mean by that, as we learn and apply more negative 
philosophies, without dropping or making any adjustment, the probability of 
learning and applying more negative is much, much higher than the probability of 
reducing? 

f. Take your time to think about the above paragraph 
g. Show that with a practical example that the probability of increasing our 

negative philosophies is much, much higher than decreasing.  In another 
word, assume that we are heading downhill as shown by the chart below, 
the probability of continuing going downhill is much, much bigger than 
the probability of going uphill. 

 

1 2 3 4-1-2-3-4 . ...
 

 
96.   By using the time chart combined with the chart given previously below the 

definition of philosophy inheritance, show the spreading of negative philosophies 
related to time. 

 
96′.   By using the time chart combined with the chart given previously below the 

definition of philosophy inheritance, show the spreading of negative philosophies 
related to time algebraically.  In other words, by using algebra you need to show the 
spreading of negative philosophy related to time. 

 
97.   Show your understanding of the word ancestor related to both theory and 

philosophy.  You need to show your understanding of the word ancestor related to 
philosophy and also related to theory. 

 
98.   Show your understanding of the physical system related to instrument and system 

relationship.  This can be viewed as the relationship of the physical system and the 
characteristic of instrument. 

 
99.   Refer to exercise 31, 41, 41′, 42, and 43, and determine why it is possible for one 

parent to feedback children of other parents.  The way to look at it, I am a parent 
and I have one child, you are also a parent and you have one child.  Why it is 
possible for me feedback your kid and it is also possible for you to feedback my 
kid.  You can also provide diagrams in your workout. 

 
100.   By now, we should have had a very good understanding of the physical system, 

especially after working out exercise number 41.  From your understanding of the 



Chapter 10: Exercises                                                                                                      334 

www.speaklogic.org                                                     Copyright © 2011 The Speak Logic Project 

physical system and also philosophy, verify your understanding problem 
characteristic.  In other words, using the physical system to show your 
understanding of problem characteristic. 

 
100′.   Using the mistaken equation, verify your understanding of problem characteristic.  

In other words, use the physical system mistaken equation to verify your 
understanding of problem characteristic. 

 
101.   By understanding theory and fundamental of theory, we know that the similarity of 

two theories depend on their fundamentals.  In other words, the similarity of the 
fundamental of two theories, enable the similarity of the theories themselves.  Now 
by understand the theories we have identified as shown on the table below 

 
Theory Name Abbreviation Identification 

The Communication Theory 
TK  

The Information Theory 
TI  

The Education Theory 
TE  

The Power Theory 
TP  

The Instrumentation Theory 
TI  

 
By understanding what we have said above and also, since a theory depends on its 
fundamental, the theories we have identified from the table above have the 
following fundamental as shown by the table below. 

 
Fundamental of Theory Name Abbreviation Identification 

Fundamental of Communication Theory 
TKf  

Fundamental of Information Theory 
Ti

f  

Fundamental of Education Theory 
TEf  

Fundamental of The Power Theorem 
TPf  

Fundamental of Instrumentation Theory 
TI

f  

 
Now by understanding everything we have said up to here and by understanding 
theory and fundamental of theory, you can do the following. 

a. Assume that you have identified some similarities within the theories 
that we have identified, provide some explanation about each theory 
similarity you have identified. 

b.    Here, you can explain what lead you to that similarity 
c. This is not important, however if you want to, you can draw the 

diagram of your similarities. 
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101′.   The following theories have been given to us  
 

, , , ,T T T T TK i E P I  

 
Given that a theory is uniquely identify by its fundamental, the theory identified 
above are pointed to the following fundamental 

 

, , , ,
TT T T TiK E P If f f f f  

 
From similarity of theory, we know that if the fundamental of two theories are 
similar, then theories are similar themselves.  With that, the following 
relationship applies for the given theories above. 

 

TT T T TiK E P If f f f f∼ ∼ ∼ ∼  

 
From the relationship identified above, we can draw the following block diagram 
to show the relationship for the fundamental of the theory. 

~

~

~

TKf

Ti
f

TEf

TPf

TI
f

~
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a. Draw the relationship for the theories for the given fundamental above.  
Rather than using the above arrangement, you may find other 
arrangement.  If you find other arrangements, use them. 

b. Provide a statement that lead to each similarity 
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Multiplication

Expandability

Other Words Characteristics

Definition

Presentation

Importance

Quality

Quantity

Application

Portability

Relation with System

Relation with Theory

Enviromental Setting and Disturbance

Uncontrollable

Unstoppable

Problem

Information

Education

Time

 
Characteristic of Time 
Given that we have used the word time a lot in this book to denote function execution 
and method application related to a moment, it is worthwhile to provide a characteristic 
for it as shown above.  The way to look at it, time is not what causes the function to 
execute or work.  The function simply works related to time.  
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Reference Section 
 

The most recommended and the most important reference for this book is our parents.  
Since our parent’s principles enable us to understand both the physical system and the 
functional system, therefore those principles are the most recommended for this book. 
 
Given that the physical person is a separate entity from the principle, given that the 
principle is what enables the system to function, it is always good to think that the 
application of the principle enabled the understanding of the principle.  While mom, dad, 
and other people can provide us feedback to help us understand the principle, but they 
cannot apply the principle for us; only the person who receives the principles can apply 
the principles.  Within what we have just said, it is always good to treat the principles as 
the reference rather than the physical person. 
 
For the exercises that require algebra, refer to the subject itself or any other mean that 
may help understand the subject.  In this case, the subject is still a separate entity from 
the book.  It is always good to refer to the subject itself and any mean that may help 
understand the subject.  The exercise that requires algebra assumes the understanding of 
the algebra.  There is not need to work them out if the algebra is not understood. 
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Index 
 
Index section 
 
 


